EMR#zk: 400-830-3938 800-830-3938

CASTLE %51 REJ=EEZ I

USER MANUAL

SANTAK®






SR AT P 1L 7 !

RS ST AT T AHLES AT AR AU, IR R
AT Mo AEBA BB TE T % Ay WA SR AR DL AT, T8 AN 24
TEAML.

AFWHEH T3C3 PROZRS™ i, 4F:
3C3 PRO 20KS

3C3 PRO 30KS

3C3 PRO 40KS

3C3 PRO 60KS

3C3 PRO 80KS

3C3 PRO 100KS

3C3 PRO 120KS

3C3 PRO 160KS

3C3 PRO 200KS



= IE 7 1

ERER

N T UISEARBE RS A SR G A s 22 4, FE BRI SE B IERILARRUPS, 1R B
NI

TNHERHE MR HR : @ SANTAK® wis”

2. GRYID A BR 2 mE 0 AR DUE TR AT E A 7] 42 72 UPS;

LA R LS EIEA CHFIRERS T C “RTFIREN” REXEASRA
IT AR BTHEAT B — P i S IR

A 2

P A Stwww.95001111.com CFt[E 7 5 B s TS D) L A ARt
1T A

TR : 950011113 T &) CRA B X "] $£37010-95001111)

S gAY R I% £ 106695001111 (F5h. @A) |

AT e, EHRFT 1595001111 208 Stwww.95001111.com &t “ I P imiE ” #
(AR SiTE il

A 7= BA

IR A BB T HARBIH, AW AL I 17 AR S 2 2 0 TR, RATE R
PR BRI M E BB, A SATIEAL. S LS
1% SHwww.santak.com.cn s #5115

FRALATA © 2019-2023 11145 HL T GRIID HHR A



ZEEITEEM

RERE

1.

o~ N

© © N o

FEAE AT S, VEAFA L “ 2 AE R FI , DA R IERI A 2 2 f ]
FFE 2% IRAF BT

PR, TEEEITAERRNL, IR EOREAT AR

TEZE D BB IS R bR BRI AR B A P A 1 4 o

AU ARE RAE TR IR IX I, BRI AR . PSSRl a6 (PR .
JCEUPSHS, DUJEZE A 24, CRIEEMEE S . 2, 5
ML T

TR, E R TR AR B HEAT R

AOBJCE, LR AR KGR HEAT K K o ZEIEAE P A A K
LT LG BN AL A A Pt 4L P K EE e

AT, IR T ThF 5 UPSHIUE T 2 & FTiic F i LA AH DL AC .

ZEIE I

1.

3.

R NI R, JEAR N A BREA A A AR NG, B2 A 41T
PUALE, SUSARMERER, FRRERETRE.

BT R ki E e B AW sl R AR Mg RN, WA E
RNV A3 585 06 Z5A 5 0] (K0 2% JE A B T«

AEE Tolky B AIBEIT S . Bl
B. BB FIREfE N B Az I B %
C.Ja B IRAR K B A S D A S kB 5
R AR E T, BURRRE

BRSZE

ERHT, ETIAC IR, A G 2 R AR R ) IR R
PR DR 25 B 5 T B A A AL I DR T 2% o

HUPS T EM B EFRLL RS, WARIEUPSTE 4 XL, JH AN 2SI KA
LT ORI, 75 00t o T3 T e f, AT A B RSB

R4 s i PERE B LLRR A RE O BTN BB A

B P bR EEAE UP S I AA U AE E L 28 ¢ 22 B A0 RE WML 1 DRI oL 37 Bt Doy 2
B, WOTHTA AR, CIBTA ek,



Rit&RE

1.

& L A A iy B PR TR L K T e T A . JU1 S8 e F T JRAIEUPS AR IR,
I PRALE AL 1 J5 % T TR .

& B RS AN S A8 el B B A B LR OB R AN GOREAT, AU
FIAR ISR 5 (0 2 i, AR AU ]

2 et 7 R R B B o i 7 AR, 7E Tk LY
e T

AN T4 AR BRI w1k

Bl 451 T H

C. 5 WAL T4,

D.iE 70K ) TR SR 5 J F e it |

EfEPR bR TR, L USEWIT AR fa it B 513

PR B IR R T KT, DR SDREENE, fER AT A,

AEL AL N HAE 20T I B B it R A b R ) LR VRS A SR IR AR SE
iR, SR B SRR A G 5 3 o A RA N Lo i 2 AR, N7 R R &
M KT e, JFRERRE.

THZKG b I AR, AU AR B2 R YR L, AR KR
ek

EERE

1.

A IR S AR AT T7 V0 AR 7= b I A5 75ty e T S — e e, (R, TE R
WEGLLE R A1) T AEBREE A4 -

AGBHE AT E (EE0-40°C, FHXHESF0-95%) M. IRAEIES
T

B.AREN. 53217 T

CHERMEM L. By, oy Aal it SR AT .

WIRACIF TR E AL, BAVKRUPS (R i) 77 8E TR 3R s, 17
IRSEYEHE: -25-55°C. UPSHHLZ AT, W25 ibAEERE RBEZE0C L L, 4
Fr2/hif B E

WEERE. HESILE Y. B, BER LI R 2 S BUPS P ) I8 T
s AEALEE G R A A AR, AT 2 52 3 B A A o

IR T Y EM KRN, BlELE=AARFTEN, FRE % iRl
T, EEWANH R ENBTRE IR, BRI T10/0; U7 S8R
R, Rt P R 5 JRO R I ) S RSB 14 /N



BT B 0 oo 1
LR It Y11 TR 1
12 F A S UEI <o 2
B2 B AN e 3
2 PFEEERTTT oo 3
2.2 T ettt 4
2.3 LCDTIHIE TR B v 12
3 ZEPIH] oo 13
Bl ZEBE T oo 13
B2 ZEBETEAL oo 13
3.3 IR TALBE ZEE oo 14
3.4 3C3 PRO HRFIUPSHELLER AR ZEE oo 19
B8 FFMLZEBE e 27
3.6 FLIBFTEREUPSIFIEE IR oo 30
A TE BEUE oot 31
A BHLIEAE oottt 31
B2 WU oo 39
TR o OO 40
6 B TRIL NG oo 45
B BT ZRITVERT oo 45
8.2 TR oo 46
8.3 KA FEIE .o 46
BT B B LS HUEHER e 47
B STE— FERZBEL oo, 49
[ 4 IR= i< RO 51

SR = ZEIBIRAIE oot 52



F1E BN
11 Fl':lzllzl’afl\

3C3 PROAFIZHAARMAE . mtERERI XU, dife . = =HHuUPS™
fhe EIRHE TSESRM IR MRS, R TR TR TR AR
RIS BRVE . JRIRRS . m K VRIE R . WKL AR BURBEh S
YRR, AR R A2 B R R TSI, B A A P R B, JF
LA X et P G 20RT AR R R O PR R R A% ) Tolk A 8g . Ak, 3C3 PRO
AP fhE LG il SO8. BURF. HlE. BEIRSE 2 AT WL BT 1 iR CE I FE .

3C3 PRO A1/ i 1) 2 Ft Dy RE I A R AL 2 4 13t v o F) PRI DRALE «
SeBERIDSPEUTHEHIHAR, A MIETH™ PR REM R G FEIE
N+XIFBRITA IR At
DEF5 0 Tk R85 675 4 1 e

o 2. ZAeMECORUSH A UPSHI LR IL $]98 % LI L
i AL BALCD SR, #4E B EE
Ty A SR K AR I TR M1z R M A2
FEHERCAF, ATAREE SR 7R 25 B




1.2 BRTFSIRA

NSRRI BT, AR SR SR A RE T B, 1 IERRIR
FFRFE o

P55 Jei X

Jo
o
<

i
el
®r
e

=
=
=
&

N
7,

<
D

=
=

H i

ORI

ECRITEAN

SRR

VIESE L7 Rl Ci) &




21 FERIEE

I, OREANNA:
1) UPSTHL—4.
2) BEMLE, BLFEMEHFM . ORGSR 8H AL H(60-200KS).

KAEUPSR BT HUR, AUARBBIA SR s, 200101, SLRIER R K
BRI .

1.

&l —

=~z

<]

e
SR
I

K% — .

BRI R, BB Lok

REARFEMBR S A JE AR 2 R S F L, AR5 A2 BR DM AN AT JE AR -
T EEMEL

PRI E LU AT S ALY f ek

R RSB A AR AT T o
REHUEIRIBAGE T, AR5 B R & it sl




2.2 SMRE

3C3 PRO 20KS/30KS/40KS #h il ]

== =[]}

5
=
o
= -
7‘. .lﬂ‘ =) = S r
<350.0 [13.8]+~ 755 [29.7}
805 [31.7}
IS HALE Je
-3 4 )
I ]
S .
o,
Yo}
3
| |
| .
T T
~350.0 [13.8}—
SR JERARL



3C3 PRO 60KS/80KS #IMiLKE

J
00 [23.62] 20 [28.36

HIRLE HE Ja il

[‘. B B .‘:|
8
1. LI
il I
— i -
W il
00 [23.62]

IR JRALFE



3C3 PRO 100KS 4Nl

1876 [73.85}

800 [31.60]

OO

00O

600 [23.62)

AL

00 [31.50)

AL

—T

T

T—T

o | o —

i
600 [23.62)

IFFLE

B

JEALIE]



3C3 PRO 120KS 4N [l

&
o9
S
©
©
I
600 [23.62}
CIEME]
u] u] u] u]
5 :
)
S
-
i
600 [23.62]

JFALE

=

S (e

00 [31.50]
AL JERLE
S
i
JRALIE



3C3 PRO 160KS/200KS #I¥iL K

=
Q
B
2
s)
l~—600 [23,62}—!
IEAE
=
©
8
(=3
M
«©
-
i)

600 [23.62}

-0
OO QO
830 [32,68}

FRLE

IRFFLE

JEALE

JA AL



3C3 PRO 20KS/30KS/40KS H (2[4

800.0 [31.5]

~—— 448.0[17.6] 4—‘

[« o =&
iy pi

176.5[6.9]
—— 350.0 [13.8] —

HIT L

3C3 PRO 60KS/80KS .2 ]

1200 [47.24]

=550 [21.65——=

300 [11.;1]J;

!

00 [23.62)

HIAL ]

‘k 448.0 [17.6] ———

o

| T

|~——2398.5 [15.7) —=|

755[29.7]

805 [31.7]

AL

[———550 [21.65]——

[t
(<362 [14.26)—

20 [28.36])

FHE




3C3 PRO 100KS/120KS .2

876 [73.85]

1130 [44.49]

T 1
———300 [77487}1«

600 [23.62]

GRS

10

00)

0®)

o .
~—401 [15.79]—
800 [31.50]

AL




3C3 PRO 160KS/200KS &

1876 [73.85)

70 [38.19)

—300 [11.811~—

0 [23.62]

gL

11

00O

OO

U, .
|=—401 [15.79} =

830 [32.68}

AL




2.3 LCDEHERITEA

LCDf 45 /2 T A BL A2 76 1, 33 LCD T b
DX UPSHERT AT LA BAE, JSUPSTFHL. Yebl. Ak
AR MR S B ST AR T AT ERSTIE
AT UPSZR5EIR, J1 Pk UPS A R #E T ronng T
DL LCOTIB 56 M. LCDI AL £ A S AT « =

LCDE R SHE =M. FRAMSREET o

TR AU A AT 1 IR

1T
{1

if: LEDS5UPSIKZEM AT FAEERISEM R, ££
o CRERAIT: BRUPS T B AR A 0K
.
R ETTER Be R
@) T Zktn, UPSHITT Bt s fk
@ iy gt UPSHIJFIEL W AR S B4 1130
® HLith W AR, UPSHHib dgs i
@ P . UPSHS Bt s Sk
® el gy UPSEUERT, SITICSEskINE, e

AR A o

- LCDERF—®:

PG SR UPS (3 .
- SR RTINS, . R E, HERABNE.

iR Snse

&R

Thie

FTOT P 5 B ol T 52— A5 2R T 3R I ff

@ - R NE NS DA TNl N S VA S T TN N 1
F A AR ] 2 35 o S
® v A~ [ N BRER 2 R — Bf i
©) A I L [ B N IR [l 2] — Jif iR
B 2 FT AR b S Y R AR
® Esc SR (L AR RPN C DS at e s

ElalE el AT RINSE R I

12



B3I T TEERHA
3.1 T

1) 3C3 PRO F 417 fih i) 22 B 2 tht M N R A% o VA AT

2) FETF PRI 2R UPS, BT RN KA. Wi FAE R, AT
WA SR P AR

3) UPSIE® LA/ER MR EEIE B EoRE0-40°C 2 /). 1R TAEFE40°C LA L3R Es
B, BSRECRTEHERARINGC, HH12%PUE M. UPSTTIEN i s
W ZERAEIES0°C, WA N 1K )7 3 TAE 22 I UPSF 1

4) 2 AL AE15-25°C 2Z A8 .

5) UPSIE# LAER 4k E R H10002K (33004 ) LU, W% P Af I #£1000
KU L, TERRFIT IR IREUE 2 (1015 5.

3.2 LE= A

3C3 PRO 20KS-200K SR HU 1 /2 1F THI A5 5t il ¥4 A1, 42 2 37 $h 0 231 2% 8 3 JRL ]
L RN T TN GEY, Rt B R TR 4 s8], LRSS H U

HLAETH S =300mmi¥) LAEZ A *
HLAE B 8 =900mm{f T/E=%51]
HUAE 5 &6 =600mm i T4 2 [m]*
BUAEZE = 50mmi¥) T.AE = >
HUAE A5 U] = 50mmif TAE 2 [m]*

* 60K S/80KSHLAL Ak I 75 4 Tl i, 7 il B = 600mm Ay T &l 24 7 2 1]
* IR B BN SR MR 2R (<600mm) M5 % IREK A -

* 20KS/30KS/40KS UPSHEd MMl #EAT, 22230 2% LR, HHH
=800mmI L4, (T4 I s UPSEART RS th; Bk el 22 ke (el ik, Tl
=600mmif 4B H e MUPSYE N IET 4T, Bk w24 b
Ko

13



3.3 AP IRIE U ERRE

3C3 PRO 20KS/30KS/40KS/60KS/80KS/100KS/120KS/160KS/200KSHR AL 4L L
PN, R A RRE T R B IR AR I B HE AT S 00 Y e A\ TS L D)%,
A A T AR A 7] BREAS 1 R R B BOR N AT AR, B 20 BT TP
5 ) 2 A e HEL ) S

3C3 PRO 20KS/30KS#& A= :
IREPARIE S R ACE S JF

UPSHiih

UPS5% 4N\ ——— Neutral (N)
PhaseC(L3) —— Phase A(L1)
PhaseB(L2) Phase B (L2)
Phase A (L1) —— ___ Phase C (L3)

i

[T 1T T 0 2 = | == T

5] =
UPSTi4fIA 0 I — [ g1
Phase A (L1)
Phase B (L2)
Phase C (L3) =X —~
Neutral (N) @ @ v Z
’_’ — 1 —L 1
— it -
HIh +

B 1

14



3C3 PRO 40KS#E& A= :
IREPAR/E SRR VA7 P

UPSHT R
Phase A (L1)
Phase B (L2)
Phase C (L3)

Neutral (N)

UPSHii
UPS5% 4 A\ Neutral (N)
Phase C (L3) Phase A (L1)
Phase B (L2) Phase B (L2)
Phase A (L1) Phase C (L3)
[ [T [[IT [TTT

= ==

= == [T 7

=S = = =

Ml -
HL -
I S
L waitn +




3C3 PRO 60KS/80KS#& A .
PRARYES TSR R R VARSI

UPSF3 Ethi A

Phase A (L1)
Phase B (L2)
[ Phase C (L3)

et ¥

)
i °© oo
Hl o o ° ° p o\ ¢l
T IS
Phase A (L1) Phase A (L1) |
Phase B (L2) Phase B (L2) —
Phase C(L3) — phaseC (L3)
UPSHi (VESTHESE TN

16



3C3 PRO 100KS/120KS#E&k =K.
KNEVARUIEST ERT R VAR R

Neutral (N)
UPSHEHIN prases (o) ——— ]
)

Phase A (L1) ™

\
|
‘\
= eyl

(o]
O
O
o
oo
O
(e}
(e}
o
°

B

L] I ‘__///
Phase A (L1) L+ L_Neutral (N)
Phase B (L2) — | o Phase C (L3 .
UPSfiit Ph:::CELsgi it | Phaces (L) UPSimiiA
Neutral (N) — - Phase A(L1)

17



3C3 PRO 160KS/200KS#ELk A= :
NEPAN I EST R A ke R

UPSHi th
it - Neutral (N)
L +— Phase A (L1)
Phase B (L2)
Phase C (L3)
[ |
] I Ie)
— L 1= B — B— R = E— — Y
o[ o o 18]o 8] Be|E] 8]0 |8
1=1 @ IETIS1IN=N
— —
° [

A EARBREE] <o
oo | N || Y E@

Neutral (N)—J
Phase A (L1) L PhaseC(L3)
UPSTliHi4ii X Phase B (L2)—————— L——————— Phase B (L2) ypS 35 ik im A
Phase C (L3) Phase A (L1)
FEEI:
ESURINMANRIEA3HAZL, BEREERLITFHANBETCER (WH=R
=)

WMANRRFAERRF, BitRE7EE,

18



3.4 3C3 PRO R7FIUPSHELRAFIFES

3C3 PRO %I UPSAIMZ Hajth B SR & Hf BIE 2 IE % — A AR R A s s (12V
FF1) . 20-80kVA, 28-36717, BRIA327, ArFrHEHN336V-432V; 100-200kVA,
36-407, BRiANAOTT, ARFRHLE NA32V-480V. Al L S b T Bk 56 e it 1) 25
RO, HHE 200 20 TR B P B IR T e R N ARG, W T2 th 35 2 R 2 DL %
B R R DR R AT 88, TR P 5%

im0

i =1 72%
sy 62?;'5_? KVA 20 30 40 60 80
KW 18 27 36 54 72
ﬁﬂ N/ ﬁﬁ] H HE Volts 400/400 400/400 400/400 400/400 400/400
ACHI N i iR
(38, 11RHZk, 1R Amps 31 46 61 92 122
k)
S min mm? 6X1 6X1  16X1 16X1 25X%1
(AB\C\NZE#E)  max mm?  10X1  25Xx1  25X1  50X1  70X1
55 B4R\ 196 3 PR
(318, 1R, 14R Amps 29 43 58 87 116
S min mm? 6X1 6X1  16X1 16X1 25X%1
(AB\C\NZL#E)  max mm?  10X1  25X1  25X1  50X1 70X1
DCH N EF
(3275 FaLith) Total
(1REMRZE, 18R ota 46 69 92 151 202
1he%) Amps
A min mm? 6X1  10X1 16X1 35%X1 50X1
(ERA534R) max mm?  25X1  35X1  50X1 50X2 70X2
ACHIHET
(318, 1Rk, 1R Amps 29 43 58 87 116
P min mm? 61 6X1  16X1 16X1 25X%1
(A\B\C\NZ:#1#%) max mm? 10X1  25X1  25X1  50X1  70X1
it 1.01%
gk (N) 1.71%

19



WA

i A %
MeaR 6’23'5_? KVA 100 120 160 200
kW 90 108 144 180
N /5 B E Volts 400/400 400/400 400/400  400/400
B o pr—
Agfﬁf\'ﬁﬁfég e Amps 154 187 248 309
Ss min mm? 35X1  50%x1 70X1  95X1
(A\B\C\NZ#1&) max mm? 95X1  120X1 150X1 2401
T .
ﬁgﬁéﬁ)} %ﬁ"m ViEHhE) Amps 144 173 231 298
Snm min mm? 35X1  50X1 70X1  95X1
(A\B\C\NZ:#11&) max mm? 95X1  120X1 150X1 2401
DC#INFR (4075 Ejth) Total
(IRERE, iR7ARE) Amps 206 247 330 412
B TR min mm 50X1  70X1 185X1 300X1
(IERFN524R) max mm?  120X1  150X1  400X2 400X2
) S
Ag%% T%@g VRH) Amps 144 173 231 289
A min mm? 35X1  50X1 70X1  95X1
(A\B\C\NZ#1#%) max mm? 95X1  120X1 150X1 240X%1
H&ith 1.01%
2 () 1745
B B

1. B AEE R UPSHT L UL BC HL AR Gt v 22 S ATUT FUAR (8 ) = A AL s R 4 5%
B, WA AL, NZIT G AT B A

2. {EHAHHUEI100AR, Jr ORI 20T R0 A K E, 2 i X
R FHULVAE D h 26 257

3. HIMMIE/ZAE: FoRUPS S HUBMBCZ LT, IENCALLGL, o B AL
4. HMZ (IE. f. ) BAUKEEME, @UCHEEE40m,

20



3C3 PRO 20KS\30KS\40KS UPSAIMI H % 2k i+

Se WF M mmmTeRY TALD g
7 HEL ) N 2 L1 Phase A M6 bolt mounting 5 (44) 28.26 mm>3(M6).
B L2 Phase B M6 bolt mounting 5 (44) 28.26 mm3(M6)
L3 Phase C M6 bolt mounting 5 (44) 28.26 mm?*(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm>3(M6)
7 LA\ 2 L1 Phase A M6 bolt mounting 5 (44) 28.26 mmz2(M6)
55 L2 Phase B M6 bolt mounting 5 (44) 28.26 mm3(M6)
L3 Phase C M6 bolt mounting 5 (44) 28.26 mm3(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm3(M6)
UP St 2 L1 Phase A M6 bolt mounting 5 (44) 28.26 mm2(M6)
Bk L2 Phase B M6 bolt mounting 5 (44) 28.26 mm3(M6)
L3 Phase C M6 bolt mounting 5 (44) 28.26 mm?(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm>?(M6)
BN + Battery (+) M6 bolt mounting 5 (44) 28.26 mm>2(M6)
- Battery (-) M6 bolt mounting 5 (44) 28.26 mm?*(M6)
FP#EH  Ground M6 bolt mounting 5 (44) 28.26 mm>2(M6)

21



3C3 PRO 60KS\80KS UPSAM Ha 5 #5: 28 viii

ae  #F we mmmEery TRID g
7 LA £ L1 Phase A M8 bolt mounting 15(133)  50.24 mm3(M8)
Hi L2 Phase B M8 bolt mounting 15 (133) 50.24 mm?(M8)
L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm?(M8)
7 FLR N 2 L1 Phase A M8 bolt mounting 15(133)  50.24 mm?(M8)
5 L2 Phase B M8 bolt mounting 15 (133) 50.24 mm?(M8)
L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm?(M8)
UP%@T& k2l L1 Phase A M8 bolt mounting 15(133)  50.24 mm3(M8)
R L2 Phase B M8 bolt mounting 15 (133) 50.24 mm?(M8)
L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm?(M8)
IERTETTPN + Battery (+)  M10 bolt mounting 24 (213)  78.5 mm?(M8)
- Battery (-) M10 bolt mounting 24 (213) 78.5 mm?(M8)
P Ground M8 bolt mounting 15 (133)  50.24 mm?(M8)

22



3C3 PRO 160KS/200KS UPS#Mif i il 4545 i+

ae  #F we mawrwry  TREN g
7 LA £ L1 PhaseA  M10 bolt mounting 24 (212)  78.540 mm%(M10)
Hi L2 Phase B M10 bolt mounting 24 (212) 78.540 mm*(M10)
L3 Phase C M10 bolt mounting 24 (212) 78.540 mm*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
7 FLR N 2 L1 Phase A M10 bolt mounting 24(212)  78.540 mm2(M10)
5 L2 Phase B M10 bolt mounting 24 (212) 78.540 mm*(M10)
L3 Phase C M10 bolt mounting 24 (212) 78.540 mm*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
UP%@T& k2l L1 Phase A M10 bolt mounting 24 (212)  78.540 mm2(M10)
i L2 Phase B M10 bolt mounting 24(212)  78.540 mm2(M10)
L3 Phase C M10 bolt mounting 24(212)  78.540 mm2(M10)
N Neutral M10 bolt mounting 24(212)  78.540 mm2(M10)
HiA + Battery (+)  M10 bolt mounting 24(212)  78.540 mm2(M10)
- Battery (-) M10 bolt mounting 24 (212) 78.540 mm*(M10)
P Ground M10 bolt mounting 24 (212)  78.540 mm2(M10)

23



FHEAE P B N BT 6 2 5 i L4 DB 4 25 A0 R 1L

UPS BU S =
AR 400Vac
P 80% P& 38A
100% %l sE 31A
303 PRO-30 80% %% 57A
100% %l xE 46A
303 PROA0 80% %% T7A
100% % 61A
303 PRO-60 80% % 115A
100% % 92A
303 PRO-80 80% % 153A
100% #isE 123A
363 PRO-100 80% % 192A
100% #ise 154A
303 PRO-120 80% B4 234A
100% #ise 187A
3C3 PRO-160 80% B4 310A
100% #ise 248A
3C3 PRO-200 80% P& 386A
100% % 7E 309A

24



EAE 1) 55 1 Wb e 2 5 55 I PR 5 22 U (L

it RGBS
#i%E FLE/min 400Vac e B E/min 400Vac
UPS IS E R Rt R4 1 FLi7E/Min 12T/Max
3C3 PRO-20 40A CuD 40A 10200A’Sec
3C3 PRO-30 63A CakD 63A 10200A’Sec
3C3 PRO-40 80A CuD 80A 20400A’Sec
3C3 PRO-60 125A CakD 125A 72500A%Sec
3C3 PRO-80 160A CHiD 160A 72500A%Sec
3C3 PRO-100 200A CHD 200A 202500A%Sec
3C3 PRO-120 250A CuiD 250A 202500A%Sec
3C3 PRO-160 300A CuD 300A 225000A°Sec
3C3 PRO-200 400A CuiD 400A 225000A°Sec

25



FHEAEF P L I 6 25 ATUE B

HiE FLE/min 500Vdc 600Vdc
o N LT BT
UPS &1 T FEER (32%) (40%)
303 PRO-20 80% A 63A NA
100% #iE 50A NA
303 PRO.30 80% 4% 95A NA
100% % 76A NA
303 PROMO 80% P&4 126A NA
100% % 101A NA
303 PRO-O 80% F&4 189A NA
100% %iE 151A NA
303 PRO.80 80% F44 252A NA
100% %i7E 202A NA
303 PRO-100 80% 44 NA 257A
100% #iE NA 206A
303 PRO20 80% 47 NA 309A
100% i NA 247A
303 PRO60 80% B&4 NA 412A
100% #E NA 330A
3C3 PRO.200 80% % NA 515A
100% %iE NA 412A

26



3.5 FZ=AE

3C3 PRO #JIUPSEAT HHEIFEcIhAE, R MIFHLL GRIEIE) JERn] LLE4T2
FAEUPSIHFEL, RSP AHIIFICAR (N+X) o HLAREEERFFE10em L L, 5
B UPSHI A 2 B2k 1 AR AL 2 BL R EoR . & 5 UPSHISA i i 2% H 7 — M
NIRRT, NG R R L A, T EDR:

I H A N B gk A
UPS1 UPS2 UPS3 UPS4
(0 0 0 - 0
‘ ‘ ‘ T B gk B
E:a ......
fha hE a1k
i
1. 20-80KZ#FMAHHLHMEMA, SERMARARAR— RE—ESE—H#t KA

i,
2. MWNAHEBEZKEEX:

@ HEAUPSHMA () mERMA (d) BERENSIZKDTF0KRE, EXE
HREDTF20%:

@ HEAUPSHIEAN (oid) WwEMA (AW EXREEMNSIKKKT20XKE, EXE
ZHKENF10%,

27



3IFHLIELIA
3C3 PRO 20KS/30KS/40KSHL#h

INPUT (MAIN)

e b

| |

S A I N R I (e o A I I | [N [P mn [ mn e o] en] s (B [oruoen]ens] X ] [ o 6]
[ [ I I | ‘
[ 1T
ups1 NFB ups2 NFB
[
T
o
OUTRUT (MAIN)
BAT INPUT (MAIN)
= O 05

[ [ T

"
[

‘ [
[ ] |
[ [ 1G] [ e[ N [orui[oriz [oris [Braa sz wes i [z [C oo [mn[ne] N orufornlonwulwe[mulro[relrs]
‘ C T I ]
| J

NFB NFB

T

E\P@j

OUTPUT (MAIN)

28



3C3 PRO 100KS/120KS##h

EFEF% a

3C3 PRO 160KS/200KS#1#h

OUT PUT (ALY

L& ]
1
|
|
K N AT I A e ) | | K 00 A e ) |
T I I I

UpS 2

\ L

[ T [ oLt Jopiz Joels |

| N N R N e

BAT2
[t ke S|
1 1
} NFB }
Lo
|
[ ]
NFB
|
=
[ Twr Ty o [l [ols ] [

| N N N P

UPS 1

I

T

manansfunfue

INPUT (WAIN

29

UPS 2




3.6 EtHFEIEIZUPSHIS IR

HLYB A 5 UPS 2 8] 4% A 22 2 500 52 WA B ) ok A T s 2%, ELAR A ] DL b — %
HIMC 2=

1. WIERUPSHOS NS H st E AN B, A B 47 Ja TG He P i

2. KHMFEIFRET “OFF” R

3. JelUPSH T HESARITIT, SRJEHUPSHG 1HES| K i+, — 20 344
IR BRI+ — 2k, DIZ0RE ALt IE D

4. JHTTAER (CEFCEERD &0 IE s i i s AR R IR B, PR IR A
BIEH, & LR

i AbHERSEREERFERIVRETHT, PEFRURIETLALHER

£, ENSFREREK,

30



F4E B
4.1 BPHERME
1. #iEA. B. C HEMFZERIEH, )51k EFIUPS.
2. &b EEIT e (SR EUPSH FHE+. — SHMAR+. — Xt ).
3. A LUPS LM “MaNFFk”  (THMATFR , M R UPSH i,
214 LM E shidt N3, SRIGHK T HH B E .
iF: KI3C3PROBOKSABI, UTEHEFEAHSEE.

)& LUPS 1) “Sa ANTFR” Ja, HLEENE, 2) #EATS A
A7 15S P IAT R AR N S LT

s 3 s

SANTAK LOAD: 0% BAT: 0

3C3 Pro 80 KVA UPS

UPS SELFTESTING
PLEASE WAIT A MOMENT

CASTLEEL

ESC

S[efs

I/PVOLT: 226 225 226
O/PVOLT.0 0 O
O/P FREQ: 0.0 Hz
STATUS: Load Off

JeRe

31




3) R TV AT LIS DL R

4)FHHET VAT LA R LR BORE

OUTPUT PARAMETER
RN SN TN
Vout: OV 0OV 0V
lout: 0OA OA O0A
FREQ: 0.0 Hz

CASTILEL

O)

s[els

ESC

INPUT PARAMETER
RN SN TN
Vin: 224V 222V 224V
lin: 0 A 0A O0A
FREQ: 50.0 Hz

CASTLEI

O) |

Sl

ESC

O

5) 4% T W EE A LA 2 LR BER

6)i %~ Vi T LA 2 LU R BURE

BYPASS PARAMETER
RN SN TN
Vin: 222V 224V 225V
linn OA OA OA
FREQ: 50.0 Hz

CASTLE

O)

AH {O

ESC

POWER PARAMETER
RN SN TN
kw: 0.0 0.0 0.0
kVA: 0.0 0.0 0.0

CASTLED

Sels

E§@ /N

32




7R VR LA R DR BORE

8) 4~ W HE AT LIAS 3| LR BUR

PF PARAMETER
Input PF:
Output PF: *xx
Bypass PF: Hxx

slelele

BATTERY PARAMETER
VBAT: oV
IBAT: +0.0 A
CAPACITY: 0%
BTR: 0 min

CASTLE

Slele

A

O

[ESC

Q)L T VAT LIS I LA N BB

10)FH %~ W8T LU 2 DU R Bk

STATUS DETECTION

Power Supply: Normal
BATT Status: Normal

sefe®

MODEL AND SERIA
CTO:
3CX08CCH0412010
MODEL: 3C3 Pro 80 KVA
SN: 4L.263LAA01

CASTLE

el

A

O

ESC

33




1) % VAT LG 2 DU Bk

12) A T VBT LA DL ek

CSB APP: 3.00.0000
CSB BLD: 1.00.0001
UPM APP: 3.00.0000
UPM BLD: 1.10.0002
UPM PLD: 2.06.0000

CASTLE

O) |

Ql {Q

O

ESC AN Y 7

STS

REC INV

_.;né¢-.

CASTLEES

Q |

S

A

{O

ESC J

34



4. JFHLE RS

1)iE &6 St 2)#% FENTER#
= CONTROLS = UPS CONTROLS
CONFIGURATION UPM CONTROLS
HELP BATTERY CONTROLS

CASTILEL CASTLEI
00@g || @OQC
ESE A Y J ESC A Y <
3)ikFITHL AYi N EE AT T HLEEN 2 T
= To Normal
To Bypass
ECO Enable S  ENTERKEY: ****
CASTLEI CASTILE
00@0 || @OQC
ES@ /N 4 <J ESC /N 4 <J




5) L R G R 6)Hfiih R RA

To Bypass CONFIRM
> Load Off Load Off
ECO Enable NO, CANCEL

2 YES, CONFIRM

sfelelelll=lel®

3C3 PROAFUPSH{ET T A AR T EFRITHL LA, HAAR LT 17 T HLAY
T, 4% J 0 T 4 7 T AT EL RO R

1H]

@©. (EUPSHHISHN, Tdels B oLl ae B
@. AR, i, N2 5UPSY)IERIER:

®. & LHEbIFK

@. HMENTERE

®. {ELCDZEM F 46 5408 .9 FEhHAT T ML AT 4

36



5. WOE U, A LAEIE AL TFH LR ,

)% T BRI R 8 1L

BEANBCEWE, AT LN R HBE -

2)FH 4 i N UL T

BN P E DU
PRI AN GES N 5L,
HENYES N 51508 TUIH -
CONTROLS USER KEY: ****
> CONFIGURATION = SERVICE KEY: ****
HELP
L CASTILEL L GASTLE
O Ql {Ql {Q O Ql {Q} {Q
ESC A 4 < ESC A V4 <J
3)H P € LI A) 225 T FLE BOE ST
= Auto Start SETUP RETAILER PHONE
Control PW = PHONE:
User PW 0000000000000
Retailer Phone
Clock
L CASTLEJ L CGASTLEJ
O Ql {Q} {Q O Ql {Q} {Q
ESC A V4 < ESC A V4 <+

37




6. & EhE

)T LU HLES AL RS, E N i) S 2) % i) BUI
CONTROLS 3> HOTLINE
CONFIGURATION MAINTAIN
> HELP ALARMS
HISTORY LOG

CASTLEJ L CASTLEJ

O q M {Q O} (O] M {@

ESC /N Y <+ ESC /N 4 7

)55 Lk 5 Ao i LR A S I

SERVICE HOTLINE
8008303938
4008303938
SERVICE CONTACT
0000000000000
CASTLE
ESC ZAW{VW{¢9

38



4.2 FHRIE

1) N P S R BN G R R

USER KEY: ****
= SERVICE KEY: ****
CASTLEL
Q) Qw {Ql {Q
ESC A 4 <J
2)RENIFEHLIEE FH 1T 3)IFHLSHix e
Bypass 2> NUM of UPS: 1
Battery UPS ID: 0
SN
= Parallel
Signal Input
CASTILEL CASTILEL
Q) Ql {Ol {O Q) Ql {Ol {O
ESC A V4 <+ ESC A V4 <J

39



5 5 EIfAE

3C3 PROASIUPSHRAL 19 fEHifE . FFHLEI1(RIA5). REPO KA A R A w2
BUIHEARN 51 % F I SERVICE i #5813 H

3C3 PRO 20KS/30KS/40KS

}F“ﬂf‘ﬂf‘fT[] o e

T |

Mini- Slotﬂlﬂi R
Mini-Slot }ﬁ

FHELED (R
FEZEN ( J)
S FEEST
REPO 5T
&R

3C3 PRO 60KS/80KS

[fo——————————— o [o— |
| ] — 1 Mini-Slot #4181
[o] o @

- 2 Mini-Slot BIY B2

3OFME &MY (RS
4 FMERERA (R4
5N

6 REPO%F

T AHMEEED

)
)

40



3C3 PRO 100KS/120KS

-
LR 7] )
| L MiniSlot ERY R

REPO #F 6 4%] J

FEEHT 5 | ] o
HBEEA R ¢ —] [
A GRE R4 3 —— ]

2 Mini-Slot BHAS B A 2

]
3C3 PRO 160KS/200KS
- _—J— 1 Mini-Slot Y B 1
I o
AyEEED 7 | |
.
REPOﬁI%% 6 | |
HLERRT 5 —t
FEEEA (Rj45) 4 | - |
FIASEY (R4) 3 -
| |

: . 2 Mini-Slot 4" B # 2
= o |

1(2) . P JRAd: 20KS-200K A EC A HHfH, RERTHA Rk TR, Axs
P FH P I I

3. ML I(RIAE): FHHLELRHIH . FFHUERN, FHHLERLE:, 20KS-200KST]
SEIA S HAL.

41



4, HHFE(RIAE): FEHLEZMHIN

5. FHLERE T « BEIFHRUPS 2S5, SEIFHIEL RIERZIF IR S .
6. REPO : HEZKHIFR, $RAVERACHLIT R, 7TLLHE B b 5 G Wy
UPSHirt! .

7. AN I SLRRAETHRE T H TR A S T T B UP S N 42 11 i 1
b, WS R RO S T AN R E S5 UPSHE Ll 1 R B2 A — 4
WL LR . JBILLCD RS LUAREANE: D Pk A A AT S B e (275
bR TR 1A D, 54K 3T 1 400-830-393851800-830-3938 % IR ik 55
R,

FEHLES T

O N

g
O .
1. Pull Chain+
nj 2. Pull Chain-
Pull Chai it IEHLRGEI0 % O R

REPO#/M #2228 1501 «

E2FX — BRFRX —]
[olo o o 0o [Clo o o gd

| 2] 5 4 11 2] 3| 4

_____ _ T
— _ — @
: J T R [_T__J__l

1-2fE%EE, FHE—ELTEER
12 &R, UPSHUITERXH. 3-4RE. 3-43TFFEt, UPSHUITE S %M.

42



FEHLERLE IR B -

EEEI:

FHLARG T, &5 UPSHIHA BIAZ RS H HEL IR A e s i L 0 28 K 5 B LB 3] 7
WAL LM LK ENZ 5, HAKE R AT A LLRIESE & UPS 14
AN LLE S BRIV ED, BHPTIRZEAE £ 10% LN« X8 T kR FFERUPS K
R TN ZR S N R H EL 8K R T 10K A A\ i 55K .
MK 1A=2A=3A=4A

1B=2B=3B=4B

1C=2C=3C=4C
MR AE2EUPSIER: (U4 » BAEZERZAEMZNR, HiE S fEs:H
EiE
IR IFHL RGP B 5 UPSIUFRS 557 B N A2 Al — A FE 5, ani—ANAINE6 5% 4%
Bas . WRIFHL ARG T % & UPSHIEE R M N 2 M R E IR, 15 &k T
TR R FE S A T .

TERMINATING TERMINATING
JUMPER RJ-45 CABLE RJ-45 CABLE RJ-45 CABLE JUMPER
[ 1 [ 1 [ 1
[ IN_ | [ our ] [N T Tour ] [N T Toutr ] [~ T Tout ]
cna ——Tcene cng L——Tcne 3 CN6 N3 CNe
CAN BUS CAN BUS CAN BUS CAN BUS
UPS 1 UPS 2 UPS 3 UPS 4
PULLCHAIN PULLCHAIN PULLCHAIN PULLCHAIN
CN4 CN4 CN4 CN4
12 12 T2 T 2
I 1 11 L1 L]

T I T

FEHLAE L - A AL

43




TERMINATING TERMINATING
JUMPER RJ-45 CABLE RJ-45 CABLE RJ-45 CABLE JUMPER
[ 1 [ 1 [ 1

[N T Tour ] TN T Tour ] [N T Tour ] [N T Tout ]
CN3 CNe CN3 CN6 CN3 CN6 cn3 T——Tcene

CAN BUS CAN BUS CAN BUS CAN BUS

UPS 1 UPS 2 UPS 3 UPS 4
BUILDING  PULLCHAIN BUILDING  PULLCHAIN LBULDING - PULLCHAIN BUILDING  PULLCHAIN

ALARM CN ALARM CN CN4 ALARM CN

2 ] 121 21 ¥ ]

TWISTED

PAIRS
CUSTOMER
TERMINAL
CONNECTIONS
4 25 9| 8 10 26 15|14 16| 27 21| 20 22| 28
6 7 12 13 18 19 24

NO‘ NO| [NC | NO| |NC NO| |NC NO No| | Nc| | No| [nc| (M| No| | Ne

com, com com com com oM B|com

5 1 17 al =

TIE CABINET

FFHLEAR LR - I HLAE

44




56 = IGECH A
6.1 BT IER

B A2 £3C3 PROAS ™ i BF X K A S I (HAR1.0mmAg =Y, Rl &
E%D#é/\)%iﬂ) BT HERCIE, (EUPSEIZRRE /AT BRI, 235, 5 AN
Vo
3C3 PRO 20-40KSj 4= M 7~ e A

3C3 PRO 60-200K Sk 2L M 7w = El:




6.2 JEE(ERER
FLI AR AT iy o 1 ELRHIR B RBURR, L3 A% JEls mT AR I Al F s I P58 (K A2 A

HAAELCD R o= SR T A 7o v i il FEAME2 (O ThRe, AR g A B IR U 2 B B R 2,
T B e R T ) 8 FH 7 4

6.3 FRIGA\EEIR

3C3 PRO #%120-80kVAMY 5 ] DU 2 /7 75 R, Sl el BT BR324 1) PR R 2o hR
RV RPN S B ERTE TN

46



BT E iz, HPSHIEHRR

#%i=UPS

THIESY T AL REATUPS s

IR BTUPSRRE, FEHKIRE (MXE) #HITEE.

1. RHESUPSHIER A B, IFIRERUPSH FHE T 2
2. KUPSTTHLIT IR K LB AT R T -

H#IPS5RF
3C3 PRO #4IUPS H TR [f14E 4
1. WURWOT R, s R A ZE Ry .

2. IEWHELT, WRABREMARAE, WLl it E s hiigilE
RN AT, AP HEE . HiEE:
AEH B LLRT, 7R AIUPS I 25T F
BB U FRZEH SR
CAE A5 T WHIIRLZL )], 15 70K T H s H A < W e vl DL S S % 51
7L fe PR B R PR T AR
D15 2714 L it 11 S0 R 4wl B 2

3. HHMAEAEH, BRI NN I BN R AR, F R Tl
NG 5E R

4. JEREUPS B AL XU, 185 Bk R 4 5 — O OUARORI XU FA 3 A AL AR
(KA G AT S T T L R BT 5%

TP HERR

WERA WS TR, H eI PR A
1. UPSHIARBLE R L ?

2. P kU AR T 5 R 5 BT ?

3. NSRS RS R R 2

HZHEMRER TR “SRERER” UEMSR R T S2 R Wi TE
EPISER

47



SEREER
F e R RE A R R E WAIRTTE
FHH TR TR N RERESEE
KA AR L. AR

R AT, R 7 5 TR 7 58
. REHIIFE RS [ A
bR SRR T B ELAT

R AT, B UPS

Fh T L T ¥ U LY 15 5 L B T

B aj1/3LL K 76 H B

LCDTHA R4 KIXESCHE3T, LCDHfL.

B BARIMELE, 15 IR R RO R: 400-830-3938 (F-41) /800-830-3938
([ 5 FFFRRHBLLUTER:

«  UPSH#5., CTO 5. Hlasflts (SIND ;

SANTAK W T B ATRLZ )

#5. 3C3 PRO-20KS &FR: AEEAIR

HA: AC380/400/415V 3W+N+PE, 50/60Hz, 32/31/29A, lcc:10kA
3ERBE: AC380/400/415V, 3W+N+PE, 50/60Hz, 30/29/28A, Icc:10KA
it AC380/400/415V, 3W+N+PE, 50/60Hz, 30/29/28A, 20kVA/18kKW
Biti: DC384V,51Alcc:10kA ((ERIERFM)

9106-62240
ra Pin: || O
9106-52240-XX K @
G T -—
e AR T D BRAT
o.M 52 4o e
AFXXKLAAXX %gésfﬁ (£ BHEAHREARS
SBSEH:
s OO A
W A H s

SERENFEU Y (WIELCDE R fin/T W, SR fil. B
Ul AR .

48



iRk — BARSH

iR 3C3 PRO 20KS 3C3 PRO 30KS 3C3 PRO40KS 3C3 PRO60KS 3C3PRO 80KS
ﬁiﬁ'% 20KVA/18KW 30KVA/27TKW 40KVA/36KW B60KVA/54KW 80KVA/72KW
BANAR SRR
SR 42 - 72Hz
INEEH >0.99
LD #iE230/400Vac (220/380, 240/4150] 1% )
T ESE 190/330 ~ 276/478Vac (-15%, +20%) , 100%f1#
116/201 ~ 276/478Vac (-50%, +20%) , 50% i T
=9k i S %5 230/400Vac (220/380, 240/4157]i%)
’ 207/359 ~ 253/438Vac (ERIAT FEAE L £10%, A% £20%)
HEHE 230/400Vac, 3l + ik + Hizk, (220/380, 240/4151/3%k)
INEEH 0.9
LE (42-72)Hz+4Hz
2R A0CHIR T, 102-110% 5604541, 111-125% 53107050, 126-150% f
= WA, >151% 514015054
) W HRER 94%
ME
ECOE= 98%
HERE 0-40°C
. TERURE —15 ~ +55C I WS AF FT UL T
ERRE N .
INEIRE 5-95% , Lkt
HREE WP 1000K NGR4T, #2000k, 1000k BA F#:THR 100K, BE41%
ks =W
ENREYE 1200
P R
WS iEEE <40°C
B OGREN—
BESE FIIEE <70% RH
R E N
= EAt TEMIIS L A
WAL B (O IR AP A AT & R IREE, AR 92 b A7 20 58 5 0 A A7 )
B jth AR AR FLE / B .
i 71 L 336V (168 Cells) ~ 432V (216 Cells), %£i\384V (192 Cells)
. B E(RE ) 61.5Kg 67 Kg 93 Kg 177 Kg 184 Kg
®  zmresm)  87.5Kg 75 Kg 101 Kg 223 Kg 230 Kg
e lﬂ,%ﬁ_ﬁﬂ' 350X805X800 350X805X800 350x805X800 600x720X1200 600X720X1200
TR ) (mm)
e EREE GB4943
BRE TLGAIE YDIT1095
E R GB/7260.2
EMC EBRARAE IEC/62040.2
B AERBFEZETEDAOBELI T RS, 76 EE RN 55 R 5 5 N i LU
L7

49



BASHIER

BE 3C3 PRO 100KS 3C3 PRO 120KS 3C3 PRO 160KS  3C3 PRO 200KS
MERE 100KVA/Q0KW  120KVA/108KW 160KVA/144KW  200KVA/180KW
BWANFR SHI+E L+
biES 42 - 72Hz
INE R 20.99
LIPN #i5£230/400Vac (220/380, 240/415W]i%)
L ESEE 190/330 ~ 276/478Vac (-15%, +20%) , 100% i T

116/201 ~ 276/478Vac (-50%, +20%) , 50%fi# T

#i7E230/400Vac (220/380, 240/415W]i%k)

FHREERE  07/350 ~ 253/438Vac (B kTG HAE HE +10%, f K AT +20%)
MERE 230/400Vac, 3l + ik + HiZk, (220/380, 240/41503k)
IhEEH 0.9
Wl iR (42-72)Hz +4Hz
S A0CHIR T, 102-110% 5150605 b, 111-125% G14R1057F, 126-150% Gk
1555k, >151% 11315021
N WEEEIR 94%
ECO#EZ 98%
HRRE 0-40TC
R E —15 ~ +55°C {4 WAL SELF (R I L T
fE FIRE - o
ERE 5-95%, JlitiR
BREE HESFIRI1000K A JER#A, 55 K20002K, 10002K LA AR TH100K,  F4%1%
ikt s 0
MSERT FIEEE <40°C
B (RIEHL
BETISE FHIEE <70% RH
EOTEE e TR R
UL (K SE R AT A 26 AN B ORI TG, VAR SR A7 PR BE 53 VP A A7 I ) o
%%@*QEE/ 432V (216 Cells) ~ 480V (240 Cells), %ki\480V (240 Cells)
FERER) 283 Kg 311 Kg 457 Kg 457 Kg
EE(FREIH) 351 Kg 379 Kg 525 Kg 525 Kg
(ﬁ*;g}éfam) 600X 800X 1876 600X 830X 1876
e EXRFE GB4943
E  TLGME YD/T1095
E ZRr GB/7260.2
[Ea] ity IEC/62040.2
EMe ﬁ;;;.i: AERATFEEREPOB LT YRS, 76EHEERELR SR I 5 A+ 5E LMl
LY o

FEBGA R T HE BISHRES LW H SRR ARSI EAMRFHIA
50



MR T SSMER

¥ Tk MR e
s AT HAEA BTN Ak EEL
1 st

IEH [ ] [ J

i [ ] [ ] [ ] *
2 BEMR

T °

g [ ] [ ] *
3 LB

IEw [ J o

oxd [ ] [ ] [ J *
4 HYBECT

IEH [ ] o o

e [ ] [ ) [ ] o *
5 THHECT

IEH [ J o [ ]

et [ [ ] o [ J *
6 ECO #i=

IEH [ ] [ J

s [ ] [ ) [ J *
7 LOAD OFF

T

s ° *

EAT I A DL R RS R, 15 22 RS T LR 5 R
® SERIT

* U5 TAE NS - 1058, HEk2.58.
SARHBA B TR B R

51



By sk = HASIRIUE

AARRE. AMILZBE, ABRBZFRBRERS.
o EZWMEAROE R
< BN SRS
FEARE )G Bs fm o, e PR aE . dnpLas AR, 1S I S A 2w IR 55 Y
RN ZHHERR .
EALERAR, BEFMTRS:
o R CEMLERRIESER D
o 24 NERFIER (AR SR AT RSN SR B ARLE)
< EEBRKERE;
W LB R 55 3HF
« UPSTREHIA SRt 2% ETT4EE IS .

REUTER, TEREEERN:
o NDulE;
o HBHREHIR;
© AT ESEE B R
PRCIEAR VTP GBI SERE e NS P
o REEBVFAT, BATXUPSHNAYME SR b b e B £ 1 i Al 1 b
o RIKUPSHL RS IUE (14 i 2% 1 B2 P4 58 456 Y BT 5 B30 Wi 5
S e ERTIN N9 G WA < & 1287

52



53



Thank you for choosing SANTAK products!

Please adhere to the warnings and instructions specified in the manual and on
the equipment, and keep the manual properly for future reference. Do not try to
operate the equipment before reading all the safety information and operation
instructions

The manual applies to the 3C3 PRO series, including:

3C3 PRO 20KS

3C3 PRO 30KS

3C3 PRO 40KS

3C3 PRO 60KS

3C3 PRO 80KS

3C3 PRO 100KS

3C3 PRO 120KS

3C3 PRO 160KS

3C3 PRO 200KS



IMPORTANT NOTICE

Supervision Code Statement

To ensure consumer rights and safe electricity application, help you purchase
authentic SANTAK UPS, the following items should be heeded:

1. Make sure of @SANTAK 45"

2. SANTAK Electronics (Shenzhen) Co. Ltd. never grants authorization in any
form to any company to manufacture UPS;

3. Labeled on all SANTAK is an “electronic supervision code” ( “electronic
supervision code” is a code of product identification advocated by SIQSAQ in
order to strike at fake commodities).

Inquiry method:

Website inquiry: Access the website:www.95001111.com (Product Identification,
Authentification and Tracking System) and input the supervision code;

Tel inquiry: Call 95001111 to check (you may call 010-95001111 and follow the
instructions to enquire the identification);

Message inquiry: Send text message to 106695001111 (available to both China
Mobile and Unicom);

Any questions, you may call the telephone number at 95001111 or log on to
www.95001111.com. for further details or lodge your complaints.

Copyright Notice

SANTAK is committed to technological innovation as it continues to deliver better
products and services to customers. We reserve the rights to modify and update
product design, technical specifications and user manuals without further notice.
Actual products may differ from pictures shown in the manual.

The latest version of the user manual is available on www.santak.com

All Rights Reserved © 2019-2023 SANTAK Electronics (Shenzhen) Co., Ltd.



Safety Instructions

General

1.

Please read through the Safety Instructions carefully before you start to
operate the equipment and keep the manual well for future reference.

Please pay attention to the warning symbols and follow the instructions in the
manual during operation.

Do not use the equipment in direct sunlight or rain, or in humid conditions.

Do not install the equipment near any sources of heat, such as heating
devices like electric heaters or furnaces.

Please make sure there is adequate space for ventilation or maintenance
around the equipment. Please follow the instructions in the manual for
installation.

For the purpose of cleaning, please use dry and non-conductive tools to wipe
down the equipment.

In case of a fire, please use dry powder extinguishers. Liquid fire
extinguishers are not allowed.

Please make sure the floor on which the equipment is installed is strong
enough to support the weight of the equipment with battery.

Please make sure the total wattage requirements of the loads do not exceed
the power rating of your UPS or the capacity of the battery.

Prohibited Activities

1.

Having service personnel without authorization from SANTAK to open the
UPS cabinet, which contains lethal voltages is not allowed. Unauthorized
opening may cause an unsafe condition, and will void the warranty.

Applying the following types of loads , the application, configuration,
management and maintenance of which may be subject to special
requirements, please inquire from dealers or SANTAK in advance:

A. High-precision industrial, scientific-research or medical instruments;

B. Facilities of which malfunctions may lead to life-threatening situations,
such as elevator;



3.

C. Loads with large inrush current and negative power consumption;

Exposing batteries to fire, which may cause explosions.

Electrical Safety

1.

Please make sure that the grounding is firmly connected and the wiring and
battery polarity are correctly connected.

Battery protection devices must be configured with a suitable over-current
circuit breaker.

Before you remove your UPS or reconnect the wiring, please shut down your
UPS and disconnect the air circuit breaker and the battery to ensure that the
output terminals do not carry live voltage which may cause an electric shock.

To ensure safety and the best performance of your UPS, please choose from
accessories recommended by SANTAK.

A proper four-pole over-current circuit breaker shall be installed before
connecting clients to your UPS to prevent electric shock by disconnecting all
the input wiring.

Battery Safety

1.

The service life of a battery is shortened as the ambient temperature rises.
Regular battery replacement ensures that your UPS work well and provides
sufficient back-up time.

Battery replacement and maintenance must be performed by authorized
personnel with professional knowledge in battery. Please replace an
equivalent number of batteries of the same type and model.

There are risks of electric shock and short circuit with the battery. Please
observe the following rules while replacing the battery to reduce the risks of
electric shock:

A. Do not wear watches, rings or any other metallic objects;
B. Use insulated tools;
C. Wear rubber shoes and gloves;

D. Do not place metal tools or any other metallic accessories on the
battery;



E. Disconnect the loads connected to the battery before removing
terminals from the battery.

Do not expose the battery to fire to avoid the risks of explosion that may
result in personal injury.

Non- professionals shall not open or disassemble the battery as electrolytes
in the battery contain strong acid and other dangerous substances which may
cause damage to skin and eyes. Please clean with water immediately and
seek medical assistance if the electrolytes come in contact with human skin.

Do not connect the battery positive and negative poles as it may cause short
circuit. Over current protection device is needed to avoid risks of burns or
electric shock.

Maintenance

1.

The working environment and storage method of UPS can affect its service
life and reliability. Do not use your UPS in any of the following environments
where:

A. the temperature and humidity are outside the required ranges, i.e.0-
40° C and 0-95% humidity;

B. your UPS is at high risks of vibration and collision;

C. there are metal shavings, corrosive materials, salt and flammable
gases.

If you plan to leave your UPS idle for a long time, please store it in dry
conditions with an ambient temperature ranging between -25-55° C. Before
you start up your UPS, please keep it in an environment where the ambient
temperature is at or above 0° C for 2 hours or longer.

Keep the air inlets and outlets clear for proper ventilation. Poor ventilation will
cause the temperature inside your UPS to rise, shortening the service life of
the components and that of your UPS.

The battery should be charged at least once every three months if it is left
idle and stored in an environment with a room temperature, or at least once
every two months if left idle in a high temperature environment; each charge
should take more than10 hours; do not discharge with no loads connected or
discharge for more than 14 hours continuously.



Chapter 1 INtrodUCHON .......ooiuiiiiii e 1
1.1 INErOdUCHION ... 1
1.2 Frequently used Symbols............ccooiiiiiiiiiiiiee e 2
Chapter 2 Appearance DesCription...........coccovviiieiiiiiiiie e 3
2.1 Unpacking and INSpection ............ccccovuieiniiiiniiee e 3
2.2 UPS Cabinet DIMeNSIONS ......c.ccoiiiiiiiaeiiiiieee e 4
2.3 LCD Panel INStruCtioNS.........ccuveiieereiiee e 12
Chapter 3 Installation INStruCtionS ...........ccooiiiiiiiiiiiii e 13
3.1 Installation NOtICE .......coeiiiiiiiie e 13
3.2 Required Clearance for Installation ..............ccccooevieeieeiiinenecnn. 13
3.3 TErMINQIS ... 14
3.4 Wiring requirements and protective devices for 3C3 PRO series.. 19
3.5 Parallel Installation ... 27
3.6 Steps of connecting battery cabinets to UPS................c..c....... 30
Chapter 4 Operation ...........cooueiiiiiiiiei e 31
4.1 Operations of Single UPS..........cccoo o 31
4.2 Operations of UPS in Parallel Connection.............cccccc.ccoouunee.. 39
Chapter 5 Communications Interface..........c.ccceovieiiiiiiiiii e 40
Chapter 6 Optional ACCESSONES .......cuviiiiiiiaiii et 45
6.1 DUStProof Filter......ccuvveeiiiiee e 45
6.2 Temperature SENSOT ..........uiiiiiiiiiiiee e 46
6.3 Dual POWer INPUL........ooiiiiiieiii e 46
Chapter 7 Transportation, Maintenance and Troubleshooting ....................... 47
Appendix | SpecCifiCations .........cc.eiiiiiiiiiiiiie e 50
Appendix Il Reference Table of LED Indicators...........ccccoeiviiiiiiiiiiiiciiiiees 54

Appendix T Warranty ... 55



Chapter 1 Introduction

1.1 Introduction

The 3C3 PRO series are high-efficiency pure online UPS products with excellent
performance that provide double conversion, and three-phase input and output.
With perfect power source protection solutions, the 3C3 PRO effectively address
multiple power source problems such as power outage, high-voltage AC and
low voltage AC, voltage sag, damped oscillation, high voltage impulse, voltage
surge, harmonic distortion, clutter interference and frequency variation, the
3C3 PRO series is widely applied for computers, communications devices and
other controlling devices safely. You can choose our optional accessories to
enhance your UPS in order to cope with inrush load situations in complicated
industrial environment. For the governments and a range of industries including
telecommunications, financing, transportation, manufacturing and energy, the 3C3
PRO series is the best choice of UPS.

The following functions of the 3C3 PRO series ensure high quality power for your
equipment:

* Advanced DSP digital control technology enabling improved product
performance and system reliability.

*  N+X parallel redundancy (common batteries are allowed).
»  Excellent protection to harsh industrial environment.

* Economic and safe ECO operation model that ensures 98% or higher USP
efficiency.

»  High-resolution LCD that ensures clear and easy operation.
*  Powerful communications interface and remote monitor.

* Plenty of accessories that meet a variety of needs.



1.2 Frequently used symbols

The following symbols may appear in the manual or other occasions. You are
suggested to understand the symbols and their meanings.

Symbols and Indications

Symbol Description
& Attention
A Dangerous high voltage
~ Alternating current(AC)

— Direct current(DC)

Grounding Protection

Recycle

Do not dispose with sundries

|8 ®




Chapter 2 Appearance Description

2.1 Unpacking and Inspection

1. Unpack the package, the unit should contain the following items:
1)1 UPS

2) Accessories, including User Manual, RoHS Certificate of Compliance
and 2 door keys.

2. Check to see if the UPS is damaged during delivery. In case of any damage
or any component missing, please do not start the UPS and contact the
carrier or dealer forwarder or distributor immediately.

Note: Make sure that there is a sufficient minimum clearance from any obstacle
before moving the UPS.

Figure 1: Cut the packing straps and remove the top cover plate.

Figure 2: Unbend the tucks locking all plates together, then remove these plates.
Figure 3: Remove the plastic bag and foam around the unit.

Figure 4: Remove the shipping brackets fixing the UPS to the pallet.

Figure 5: Attach the ramp to the front of the pallet.

Figure 6: Roll the UPS down the ramp and move it to the installation spot.

Figure 4 Figure 5 Figure 6
3



2.2 UPS Cabinet Dimensions

3C3 PRO 20KS/30KS/40KS Cabinet Dimensions

800.0 [31.5]

805 [31.7]

~350.0 [13.8]—

FRONT VIEW

-
i

~350.0 [13.8]—

TOP VIEW

755 [29.7}
805 [31.7]
RIGHT VIEW
-y 4 -y
1 I
| |
]
T
BOTTOM VIEW

REAR VIEW



3C3 PRO 60KS/80KS Cabinet Dimensions

B 00 [23.62) 20 [28.36

FRONT VIEW RIGHT VIEW REAR VIEW
| —;
[1]. .
I! Q

— 2 -
Front Front
00 [23.62]
TOP VIEW BOTTOM VIEW



3C3 PRO 100KS Cabinet Dimensions

1876 [73.85}

800 [31.50]

00O 00O

00 [23.62]

FRONT VIEW

00 [31.50)

RIGHT VIEW

T

T

| — | | E—— E——

T
600 [23.62]

TOP VIEW

Al

BOTTOM VIEW

REAR VIEW



3C3 PRO 120KS Cabinet Dimensions

600 [23.62)
FRONT VIEW
o o o o
i
00 [23.62]
TOP VIEW

00 OO

00 [31.50}

RIGHT VIEW

BOTTOM VIEW

REAR VIEW




3C3 PRO 160KS/200KS Cabinet Dimensions

OO

00O

=g

A4 ~

830 [32,68}

s

RIGHT VIEW

7
g
2
<
l-—600 [23.62}——
FRONT VIEW
L.
=
©
8
S
o
-
[l
600 [23.62]

TOP VIEW

BOTTOM VIEW

REAR VIEW



Center of Gravity of 3C3 PRO 20KS/30KS/40KS

=y
=
e
E
3
£ z
s s
¥ g
L |
—~——398.5[15.7] —=—
176.5[6.9]
—— 350.0 [13.8]—— 755 [29.7]
805 [31.7]
FRONT VIEW
RIGHT VIEW

Center of Gravity of 3C3 PRO 60KS/80KS

1200 [47.24]

& =660 [21.65F——=
=560 [21.65]—=

———]
=362 [14.25)|
20 [28.36}

—_—
£ 300 [11.81H=—

00 [23.62]

FRONT VIEW RIGHT VIEW



Center of Gravity of 3C3 PRO 100KS/120KS

=
-0
| co | oo
500 11,81~ L7201 [15.79]
00 [23.62] 00 [31.50]
FRONT VIEW RIGHT VIEW

10



Center of Gravity of 3C3 PRO 160KS/200KS

=
-0
0]0) oo
——300 [11.81 = 4 507 [7579}».
0 [23.62] 830 [32.68]
FRONT VIEW RIGHT VIEW

11



2.3 LCD Panel Instructions

The LCD panel is a human-machine interface
providing information on the operating status of your
UPS, including power-on, power-off, status display, GASTLE]
fault alarm, and parameter setting. After your UPS dg)—jf] Q Q Pf—?
is installed, all the operations can be performed

with the LCD panel. The LCD panel consists of LED

status indicators, a LCD display and navigation T , %Tﬁ»
pushbuttons. Please refer to the table below for the

description of LED status indicators and navigation JD JD JD !)
pushbuttons.

Note: See Appendix Il for the description of each LED status indicator.

»  LED status indicators: indicating the UPS working mode and status

Identifier LED Indicator Color Status
@ AC green UPS is powered directly by AC
® Inverter green UPS is powering through the inverter
® Battery yellow  Line input fault, UPS is powering by batteries
@ Bypass green UPS is powering the load by AC through bypass
LED will solid on with continuous warning tone
® Fault red or flash with intermission warning tone in case of

UPS abnormal function

« LCD display ©®: providing detailed information about the UPS

* Navigation pushbuttons: Selecting and opening menu items, accessing
information and changing system parameters, etc.

Identifier Key Name Function
Select a menu or confirm an operation; confirm the present input
Confirm/ .
@) “ Ent password letter and enter the next password letter input process;
nter
back to the main menu from the status screen.
® v Page Down Switch to next screen display under the same menu.
©) A Page UP Return to last screen display under the same menu.
Return to previous menu or cancel a certain operation; cancel the
Esc Escape

input password; back to the status screen from the main menu.

12



Chapter 3 Installation Instructions

3.1 Installation Notice

1) The installation of Castle EX series products must be performed in compliance
with the electrical code by professional personnel.

2) Install the UPS in a clean and stable environment that is free of vibration, dust,
high humidity, flammable gas, and flammable liquid or caustic substance.

3) To ensure normal UPS performance, ambient temperature should range
between 0-40°C. If temperature exceeds 40°C, maximum load should be
decreased progressively by 12% of the rated amount along with every increase
of temperature by 5°C. The maximum am- bient temperature for normal UPS
performance should not exceed 50°C.

4) It is suggested that battery pack should work within a temperature range
from15°C to 25C.

5) Altitude for normal UPS function should not exceed 1000m. Should UPS be
intended for application above 1000m, contact your service representative for
important information about high altitude operation.

3.2 Required Clearance for Installation

The UPS cabinet uses forced air cooling to regulate internal component
temperature. Air inlets are in the front of the cabinet and outlets are in the back
of the cabinet. Allow clearance in front of and in back of the cabinet for proper air
circulation.

From Top of Cabinet =300 mm (12") working space*
From Front of Cabinet =900 mm (36") working space
From Back of Cabinet =600 mm (23.6") working space*
From Right Side of Cabinet =50 mm (23.6") working space*
From Left Side of Cabinet =50 mm (23.6") working space*

*

some components need top access for 60KS/80KS service operation, please
reserve at least 600mm space in the top of unit.

* If customer need smaller clearance requirement of rear side(<600mm), should
check with service if it is allowed to move away the UPS when do maintainence.

13



* 20KS/30KS/40KS UPS are maintained from the side, When installation space is
referred to Table, please reserve =800mm cable length so that the UPS could be
moved forward for maintenance, otherwise please reserve =600mm installation
space on left and right sides. Other models of UPS maintenance from the front,
installation space please refer to Table.

3.3 Terminals

The standard models of 3C3 PRO 20KS/30KS/40KS/60KS/80KS are single
feed,100KS/120KS/160KS/200KS UPS are dual feed. The UPS can be converted
from single feed to dual feed or from dual feed to single feed. All operations
should only be carried out by trained service personnel authorized by Santak.

3C3 PRO 20KS/30KS wiring connection:

1.Terminals:
UPS Output
UPS Bypass Input ——— Neutral (N)
PhaseC(L3) —— Phase A (L1)
Phase B (L2) Phase B (L2)
Phase A (L1) —— ___ Phase C (L3)
\\’l/// -
| [ T [T I 1 O = I | = ]
OQQQEEE:H pmElit
= — = [ToMol
UPSAC Input il il il ]
Phase A (L1)
Phase B (L2)
Phase C (L3) - - __
Neutral (N) S ® ©)
[ 1 [
— Battery+
Battery-

Grounding Terminals

14



3C3 PRO 40KS wiring connection::

1. Terminals:
UPS Output
UPS Bypass Input — Neutral (N)
PhaseC(L3) ——— Phase A(L1)
Phase B (L2) Phase B (L2)
Phase A (L1) — —— Phase C (L3)
[T T
UPS AC Input il
Phase A (L1) Battery-
Phase B (L2) Battery-
Phase C (L3)
Neutral (N)
L/ |
L—Battery+
Battery+

Grounding Terminals

15



3C3 PRO 60KS/80KS wiring connection:

2. Terminals:

Grounding Terminals

Battery+

UPS Bypass Input
Phase A (L1)
Phase B (L2)

[ Phase C (L3)

]

:

. s
e o ° i ool
T IL
Phase A (L1) Phase A (L1) J
Phase B (L2) Phase B (L2) —
Phase C (L3) Phase C (L3) —
UPS Output UPS AC Input

16



3C3 PRO 100KS/120KS wiring connection:

3. Terminals:

UPS Bypass Input  ppase B (L2
Phase A (L1)

Neutral (N)
Phase C (L3) ——

)

)

Grounding
Terminals

[
(-]

.

Phase A (L1)

Phase B (L2)
UPS Output ppage ¢ (L3)

Neutral (N)

o ©
|
=1
P |
:Dig-
1t

)

i} W'ﬁ’

Battery+
Battery-

17

|

Grounding
Terminals

fs

AN
ol

¥l';lﬁutraléN23
ase
Phase B ((L2)) UPS AC Input

L PhaseA(L1)



3C3 PRO 160KS/200KS wiring connection:

4. Terminals:

Grounding
Terminals

oo

UPS Output
Battery- Neutral (N)
Battery+— Phase A (L1)
Phase B (L2)
— Phase C (L3)
[
T e e e | — ),
do@ o 51576 f@ EINEENE
= -
-3 o
Nrminals
[} ° @
N§ )/
L - slo o
Neutral (N)—
Phase A (L1)——— Phase C (L3)
) Phase B (L2) UPS Bypass Input

UPS AC Input Phase B (L2

Notes:

Phase C (L3)

Phase A (L1)

1. Please make sure that the input power is three-phase with 4 wires, and the
input voltage is within the allowable voltage range(refer to Appendix 1).

polarities are correctly connected.

18

Make sure the input power phase sequence is close-wise and battery



3.4 Wiring requirements and protective devices for 3C3 PRO series

External batteries of 3C3 PRO series UPS should be groups of battery packs with
the same capacity, 20-80kVA, 28-36 block, default 32 block, the battery voltage
should be within 336V-432V; 100-200kVA, 36-40 block, default 40 block, the
battery voltage should be within 432V-480V.The number and total capacity of
the battery packs are at your option. The battery packs must be equipped with
a DC switch and DC fuse, and overload and line voltage should also be taken
into consideration for wire diameter selection. Please refer to the table below for

details:
Cross- Unit
sections
Rated Capacity :'E.'éer tothe ya 20 30 40 60 80
kW 18 27 36 54 72
62040-1
Input /Output Voltage Volts 400/400 400/400 400/400 400/400 400/400
AC Input Full Load
Current (threel-phase, Amps 31 46 61 92 122
one neutral wire,
one ground wire)
Wire Size min mm’ 6X1 6X1 16X1  16X1  25X1
(A\B\C\N wire size) max mm? 10%1 25%1 25% 1 50 1 70% 1
Bypass Input Full Load
Current (three-phase,
one neutral wire, Amps 29 43 58 87 116
one ground wire)
Wire Size min mm? 6x1 6X1  16X1  16X1  25X1
(A\B\C\N wire size) max mm? 10%1 25%1 25% 1 50% 1 70%1
DC Input Current
(32 block of batteries) Total
(one positive wire, Amps 46 69 92 151 202
one negative wire)
Power Wiring Size min mm? 6X1 10%X1 16 X1 35X 1 501
(positive and negative) max mm? 25%1 35% 1 50% 1 50%2 70X 2
AC Output Current
(three-phase,
one neutral wire, Amps 29 43 58 87 116
one ground wire)
Input Wiring Size min mm? 6x1 6X1 16X1  16X1  25X1
(A\B\C\N wire size) max mm? 10%1 25%1 25% 1 50% 1 70%1
Grounding 1.0 times
neutral wire (N wire) 1.7 times

19



Cross- Unit

sections
Rated Capacity ':ﬁfeelrEtg KVA 100 120 160 200

62040-1 kw 90 108 144 180
Input /Output Voltage Volts 400/400 400/400 400/400  400/400
AC Input Full Load
Current (three-phase, Amps 154 187 248 309
one neutral wire,
one ground wire)
Wire Size min mm? 35%1 50X 1 70%1 95X 1
(A\B\C\N wire size) max mm? 951 120X1  150X1  240x1
Bypass Input Full Load
Current (three-phase,
one neutral wire Amps 144 173 231 298
one ground wire)
Wire Size min mm? 35X 1 501 70X 1 95X 1
(A\B\C\N wire size) max mm? 95X 1 120 X1 150 X1 240 X1
DC Input Current
(32 block of batteries) Total
(one positive wire, Amps 206 247 330 412
one negative wire)
Power Wiring Size min mm? 501 70X1  185X1 3001
(positive and negative)  max mm? 120X1  150X1  400X2  400X2
AC Output Current
(three-phase,
one neutral wire, Amps 144 173 231 289
one ground wire)
Input Wiring Size min mm? 35%1 50% 1 70%1 95X 1
(A\B\C\N wire size) max mm? 95X 1 120 X1 150 %1 240 X1
Grounding 1.0 times
neutral wire (N wire) 1.7 times

NOTE:

1.

Before connecting to the UPS, a proper three pole over-current circuit
breaker should be installed in the power distribution system, with Phase A,
Phase B, Phase C disconnected , and Neutral switch is optional.

For single-phase current exceeding 100A, the air circuit breakers used must
feature an arc-quenching mechanism. It is suggested that the clients be
equipped with a UL-listed D-curve air circuit breakers.

Positive/negative battery wire diameter refers to the diameter of the wires
20



used to connect the UPS and the battery cabinet; the positive wire is red
and negative wire black.

4. The positive and negative battery wires, which must be of the same length
and should not be longer than 40m.

3C3 PRO 20KS\30KS\40KS UPS External Power Source Terminals

. Tightening .
Terminals . . . Screw Size
. Terminals  Function Bus landing Torque
Function Nm (b in) and Type
. L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?3(M6).
AC Mains
Input to L2 Phase B M6 bolt mounting 5 (44) 28.26 mm?(M6)
UPS L3 Phase C M6 bolt mounting 5 (44) 28.26 mm>*(M6)
Rectifier
N Neutral M6 bolt mounting 5 (44) 28.26 mm?(M6)
L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?*(M6)
AC Mains L2 Phase B M bolt mounting 5 (44) 28.26 mm>(M6)
Input to
Bypass L3 Phase C M6 bolt mounting 5 (44) 28.26 mm?*(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm2(M6)
L1 Phase A M6 bolt mounting 5 (44) 28.26 mm?*(M6)
ups L2 Phase B M6 bolt mounting 5 (44) 28.26 mm>(M6)
Output to
Loads L3 Phase C M6 bolt mounting 5 (44) 28.26 mm?3(M6)
N Neutral M6 bolt mounting 5 (44) 28.26 mm?*(M6)
+ Battery (+) M6 bolt mounting 5 (44) 28.26 mm?(M6)
DC Input
- Battery (-) M6 bolt mounting 5 (44) 28.26 mm>?(M6)
Grounding Ground M6 bolt mounting 5 (44) 28.26 mm?(M6)

21



3C3 PRO 60KS\80KS UPS External Power Source Terminals

Tightening

Terminals . . . Screw Size
Functi Terminals  Function Bus landing Torque dT
unction Nm (|b in) an ype
. L1 Phase A M8 bolt mounting 15 (133) 50.24 mm?(M8)
AC Mains
Input to L2 Phase B M8 bolt mounting 15 (133) 50.24 mm?(M8)
UPS L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?(M8)
Rectifier
Neutral M10 bolt mounting 24 (213) 78.5 mm?(M8)
L1 Phase A M8 bolt mounting 15 (133) 50.24 mm?(M8)
AC Mains L2 Phase B M8 bolt mounting 15 (133) 50.24 mmz(M8)
Input to
Bypass L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm*(M8)
L1 Phase A M8 bolt mounting 15 (133) 50.24 mm?(M8)
ups L2 Phase B M8 bolt mounting 15 (133) 50.24 mm?(M8)
Output to
Loads L3 Phase C M8 bolt mounting 15 (133) 50.24 mm?(M8)
N Neutral M10 bolt mounting 24 (213) 78.5 mm?*(M8)
+ Battery (+)  M10 bolt mounting 24 (213) 78.5 mm?*(M8)
DC Input
- Battery (-)  M10 bolt mounting 24 (213) 78.5 mm*(M8)
Grounding Ground M8 bolt mounting 15 (133) 50.24 mm?(M8)

22



3C3 PRO 160KS\200KS UPS External Power Source Terminals

Tightening

Terminals . . . Screw Size
Function Terminals  Function Bus landing Torque and Tvoe
uncti Nm (Ib in) yp
. L1 Phase A M10 bolt mounting 24 (212) 78.540 mm*(M10)
AC Mains
Input to L2 Phase B M10 bolt mounting 24 (212) 78.540 mm*(M10)
UPS L3 Phase C M10 bolt mounting 24 (212) 78.540 mm3(M10)
Rectifier
N Neutral M10 bolt mounting 24 (212) 78.540 mm?(M10)
L1 Phase A M10 bolt mounting 24 (212) 78.540 mm3(M10)
AC Mains L2 Phase B M10 bolt mounting 24(212) 78540 mm2(M10)
Input to
Bypass L3 Phase C M10 bolt mounting 24 (212) 78.540 mm?(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
L1 Phase A M10 bolt mounting 24 (212) 78.540 mm*(M10)
ups L2 Phase B M10 bolt mounting 24(212) 78540 mm3(M10)
Output to
Loads L3 Phase C M10 bolt mounting 24 (212) 78.540 mm*(M10)
N Neutral M10 bolt mounting 24 (212) 78.540 mm*(M10)
+ Battery (+) M10 bolt mounting 24 (212) 78.540 mm?(M10)
DC Input
- Battery (-) M10 bolt mounting 24 (212) 78.540 mm*(M10)
Grounding Ground M10 bolt mounting 24 (212) 78.540 mm?(M10)

23



Recommended Input Circuit Breaker and Output Circuit Breaker Ratings

Circuit Breaker Rating

UPS Models
Load 400Vac
363 PRO-20 80% -rated 38A
100% -rated 31A
303 PRO-30 80% -rated 57A
100% -rated 46A
303 PROY0 80% -rated T7A
100% -rated 61A
303 PRO-60 80% -rated 115A
100% -rated 92A
303 PRO-80 80% -rated 153A
100% -rated 123A
3C3 PRO-100 80% -rated 192A
100% -rated 154A
303 PRO-120 80% -rated 234A
100% -rated 187A
503 PRO-160 80% -rated 310A
100% -rated 248A
3C3 PRO-200 80% -rated 386A
100% -rated 309A

24



Recommended Bypass Circuit Breaker and Bypass Fuse Ratings

Circuit Breaker

Fuse Parameters

Rated Voltage/min 400Vac

Rated Voltage/min 400Vac

UPSEE  Rated Current TiPP — rent/Min 12T/Max
characteristic
3C3 PRO-20 40A CorD 40A 10200A%Sec
3C3 PRO-30 63A CorD 63A 10200A%Sec
3C3 PRO-40 80A CorD 80A 20400A%Sec
3C3 PRO-60 125A CorD 125A 72500A%Sec
3C3 PRO-80 160A CorD 160A 72500A%Sec
3C3 PRO-100 200A CorD 200A 202500ASec
3C3 PRO-120 250A CorD 250A 202500A%Sec
3C3 PRO-160 300A CorD 300A 225000A%Sec
3C3 PRO-200 400A CorD 400A 225000A%Sec

25



Recommended DC Circuit Breaker Ratings

Rated Voltage 500Vdc 600Vdc
Current Current
UPS Model Load
(32 block) (40 block)

80% -rated 63A NA
3C3 PRO-20

100% -rated 50A NA

80% -rated 95A NA
3C3 PRO-30

100% -rated 76A NA

80% -rated 126A NA
3C3 PRO-40

100% -rated 101A NA

80% -rated 189A NA
3C3 PRO-60

100% -rated 151A NA

80% -rated 252A NA
3C3 PRO-80

100% -rated 202A NA

80% -rated NA 257A
3C3 PRO-100

100% -rated NA 206A

80% -rated NA 309A
3C3 PRO-120

100% -rated NA 247A

80% -rated NA 412A
3C3 PRO-160

100% -rated NA 330A

80% -rated NA 515A
3C3 PRO-200

100% -rated NA 412A

26



3.5 Parallel Installation

The 3C3 PRO Series support parallel installation. The parallel connection wires
(optional) can be used to connect 2 to 4 UPS units in parallel to achieve power
redundancy (N+X). The minimum clearance between two UPS units is 10cm. The
input wiring requirements for paralleled UPS units are the same with those for
single unit. The input/output of paralleled UPS units should all be connected to
the same input/output patch board, from which wires are distributed for load as
illustrated in the following figure:

AC Mains Input Patch Board

UPS1 UPS2 | UPS3 UPS4

5 [0 |8 |

Output Patch Board

Load Load Load Load

NOTE:

1. Paralleled UPS units can share the battery packs for 20-80kVA; The batteries
of each battery pack should be batteries of the same type and from the same
batch produced by the same manufacturer;

2. Requirements for output wire length:

(D When the wires connecting the input (output) terminals of paralleled UPS
units with the input (output) patch board are shorter than 20m, the difference
in wire length should be smaller than 20% of the length

@ When the wires connecting the input (output) terminals of paralleled UPS
units to the input (output) patch board are longer than 20m, the difference
should be smaller than 10%.

27



Parallel machine wire connection drawing:

3C3 PRO 20KS/30KS/40KS UPS

INPUT (MAIN BAT

B

S P I (o oI A | S IR T (o o A I |
[ [T
[ [

UPs1 NIB| UPS 2 NI

I

HEdd

OUTPUT (MAIN)

3C3 PRO 60KS/80KS UPS

BAT INPUT (MAIN)

5

N

[ |
N S T I ) I S A [ I ) e |
‘ C T 11 [ ]
T 1 ]

N NFB

T

LTl

OUTPUT (MAIN)

28



3C3 PRO 100KS/120KS UPS

L& ]
I
|
| =
— 8 N D S [ ‘ ] , T
o I I I e I A R | | I | o P I O O T Y A [
B [ [ ] ME
- s = 1ps 2
{ ]
el 5
3C3 PRO 160KS/200KS UPS
e | o
I ‘ L=
1
| |
[ [0r [ v o0 [ [ ] [ [0 [ v [0 [z [o ] | |
[V IO rerPoei e [ws] ‘ I O I N T | ‘
UPS 1 PS 2

29



3.6 Steps of connecting battery cabinets to UPS

A proper over-current circuit breaker should be installed between the battery
cabinet and the UPS. To choose the right circuit breakers, please refer to the
tables in the above section.

Make sure that the input and output terminals is non-electrified and the external
battery sockets are power off.
1. Switch off the battery breaker of battery cabinet.

2. Remove the cover on the terminals bay and connect the "+" and "-" wires
from the UPS terminals to "+" and "-" wires of the battery box; make sure the
battery polarities are correct.

Use multi-meter (DC Voltage) to measure the voltage of positive and negative
batteries as well as positive and negative polarity, make sure the positive and
negative connectivity is correct then put the cover back on the terminals bay.

NOTE: To prevent electric shock, the installation and replacement of battery
must be performed by professional personnel and after the UPS is shut down.

30



Chapter 4 Operation

4.1 Operations of Single UPS

1. Make sure Phase A, B and C are in correct phase sequence, and then supply

power to the UPS.

2. Turn on the battery (make sure that the battery "+" and "-" terminals are
correctly connected to the UPS terminals).

3. Turn on the "Input Switch" on the UPS (the AC Input Switch), and the UPS
will start to check its functionality with the cooling fan operating. You will
access the main menu in about 4 seconds. Then please operate according to

the following screen display.

NOTE: The data shown in the following pictures on the operations of 3C3 PRO

80KS are for reference only.

1) Turn on the "Input Switch", and the

UPS will start to check its functionality,
The main menu will be displayed after
15 seconds of inactivity.

2) Get to the main menu.

s N s

SANTAK
3C3 Pro 80 KVA UPS

UPS SELFTESTING
PLEASE WAIT A MOMENT

CASTLEEL

OO O

LOAD: 0% BAT. 0
I/PVOLT: 226 225 226
O/PVOLT:0 0 O

O/P FREQ: 0.0 Hz
STATUS: Load Off

CASTLE

OO OO

31




3) Press the ¥ button for the following
information.

4) Press the ¥ button for the following
information.

OUTPUT PARAMETER
RN SN TN
Vout: OV 0V 0OV
lout: 0OA 0OA OA
FREQ: 0.0 Hz

CASTLEEL

OO

BSC /N V <7

INPUT PARAMETER
RN SN TN
Vin: 224V 222V 224V
linn 0 A 0OA O0A
FREQ: 50.0 Hz

CASTLES

QOO

BSC /N V <7

5) Press the ¥ button for the following
information.

6) Press the ¥ button for the following
information.

BYPASS PARAMETER
RN SN TN
Vin: 222V 224V 225V
linn 0OA OA O0OA
FREQ: 50.0 Hz

CASTLES

OO OO

ESC /N Y <+

POWER PARAMETER
RN SN TN
kw: 0.0 00 0.0
kVA: 0.0 0.0 0.0

CASTLE

@lelele

ESC

32



7) Press the ¥ button for the following
information.

8) Press the ¥ button for the following
information.

PF PARAMETER
Input PF: FEE
Output PF: xxrx
Bypass PF:  ***

CASTLEI

O]9 1O

BATTERY PARAMETER
VBAT: oV
IBAT. +0.0A
CAPACITY: 0%
BTR: 0 min
CASTILED
ESC A 4

9) Press the ¥ button for the following
information.

10) Press the ¥ button for the following
information.

STATUS DETECTION

Power Supply: Normal
BATT Status: Normal

CASTLEL

\ HQ\ \Q

MODEL AND SERIA
CTO:
3CX08CCH0412010
MODEL: 3C3 Pro 80 KVA
SN: 4L263LAA01

CASTLEL

OlO)NO 9

ESC

33



11) Press the ¥ button for the following  12) Press the ¥ button for the following
information.

information.

CSB APP: 3.00.0000 STS

CSB BLD: 1.00.0001 PR I—

UPM APP: 3.00.0000 REC INV :

UPM BLD: 1.10.0002 — - iy

UPM PLD: 2.06.0000 BAT I'é'l +

CASTLEI L CGASTLEZ

ESC A V4 <7 ESC A V4 «J

34



4. Start-up and shut-down operations

1) Access the control interface.

2) Press the ENTER button.

=2 CONTROLS
CONFIGURATION
HELP

CASTLEE

Qe

A 4 7

@

ESC

>

UPS CONTROLS
UPM CONTROLS
BATTERY CONTROLS

Qe

3) Select "Start-up".

4) Enter the password to access the

home page.
2 To Normal
To Bypass
ECO Enable >  ENTER KEY: *#***
CASTILE CASTILE
J q M {Q J q M |©
ESC A 4 <J ESC A 4 <7

35




5) Select "Shut-down".

6) Confirm that you want to shut down

the UPS.
To Bypass CONFIRM
> Load Off Load Off
ECO Enable NO, CANCEL
2 YES, CONFIRM
CASTILED CASTLES
Ol OO OO
ESC AN N/ <+ ESC AN 4 <+

The 3C3 PRO series can start and operate with battery in the absence of AC
mains supply, with a panel display similar to that in the case of AC supply. You can
just follow the instructions displayed on the panel to start or shut down the UPS

with battery:

*  Make sure that the battery "+" and "-" terminals and the N wire are correctly

connected to the UPS.
e Turn on the battery.
. Press the ENTER button.

*  The LCD will undergo a self-test. Please manually start the UPS within 40s

after the LCD self-test is completed.

NOTE: The power supply to the UPS will be automatically cut off if there is no
operation within 40s after the LCD self-test is completed!

36




5. Enter the start-up password to access the Settings page to configure the

following settings:

1) Press the ¥ button and select

2) User/Service password setting page

"Settings". Access the User Setting page; Enter
the service password To access the
Service Personnel setting page .
CONTROLS USER KEY: ****
> CONFIGURATION 2  SERVICE KEY: ****
HELP
CASTLEL CASTLEL
ESC A 4 <J ESC A { 4 <J
3) User Setting page. 4) Retailer Telephone Number setting
page.
2  Auto Start SETUP RETAILER PHONE
Control PW = PHONE:
User PW 0000000000000
Retailer Phone
Clock
CASTLE CASTILED
ESC A { 4 <+ ESC A { 4 <J

37



6. Inquiry

1) You can access the Inquiry page by

entering the start-up password.

2) Inquiry page.

>

CONTROLS
CONFIGURATION
HELP

CASTILE

OO O

<+

>  HOTLINE
MAINTAIN
ALARMS
HISTORY LOG
CASTILE
OO O
ESC AN 4 <J

3) Hot-line and dealer Telephone
Number inquiry page (for China market only).

SERVICE HOTLINE

SERVICE CONTACT

8008303938
4008303938

0000000000000

CASTILES

SJelele

<+




4.2 Operations of UPS in Parallel Connection

1) Enter the user password or service
password.

USER KEY: ****
= SERVICE KEY: ****

Jepe

J

3) UPS Parallel Connection Parameter

2) Access the UPS Parallel Connection
Setting page.

Setting page.
Bypass 2> NUM of UPS: 1
Battery UPS ID: 0
S/N
= Parallel
Signal Input
CASTILEL L CASTLEL
Q) Ql {Ow {Q Q) Ql {Ow {O
ESC A V4 <+ ESC A V4 <J

39




Chapter 5 Communications Interface

The 3C3 PRO series provide Expansion Slot, Parallel (RJ45) and REPO as well
as special communication tools used by SANTAK service engineer or technical
personnel authorized by SANTAK.

3C3 PRO 20KS/30KS/40KS

| — — I o Je

I

Mini-Slot Communications Bay 2

Mini-Slot Communications Bay 1

2

1

3 Parallel CAN Output (RJ45)
4 Parallel CAN Input (RJ45)
5
6
7

Pull chain Terminals

REPO Terminal
Building Alarm Ports

3C3 PRO 60KS/80KS

[fo—————— o [ |
— | Mini-Slot
! ° '_"_‘D ° ® :| 1 Communications Bay 1
| 7N
| \ 5 Mini-Siot
L o J Communications Bay 2
L e

Parallel CAN Output (RJ45)

Parallel CAN Input (RJ45)

Pull chain Terminals

REPO Terminal

~N Nt A~ W

Building Alarm Ports

40



3C3 PRO 100KS/120KS

\
Building Alarm Ports 7 7;7

REPO Terminal 6 4F1 °

Pull chain Terminals § |

Parallel CAN Input (RJ45) 4 ———— |
Parallel CAN Output (RJ45) 3 4‘5

o

3C3 PRO 160KS/200KS

Building Alarm Ports 7 _
|
\

REPO Terminal 6

Pull chain Terminals 5 #

Parallel CAN Input (RJ45) 4 —— —
Parallel CAN Output (RJ45) 3

Mini-Slot
Communications Bay 1

Mini-Slot

2 Communications Bay 2

1 Mini-Slot
Communications Bay 1

2 Mini-Slot
Communications Bay 2

1 (2) Expansion slots: Slots exclusively available on the 20KS-200KS

models and only accessible by users with special requirements. Standard

users have no access to the slots.

« 3. Parallel Connection Terminals (RJ45) Parallel CAN Output used for
communications between paralleled UPS units. Up to four 20KS-200KS

models can be connected in parallel.

* 4. Parallel Connection Terminals (RJ45) Parallel CAN Input.

. 5. Pull chain Terminals: Check to make sure the UPS system is shut down,
and connect the UPS intended for parallel connection according to the

parallel connection diagram.

* 6. The REPO is used for emergency shutdown, which enables users to cut

41



off the UPS output in case of an emergency.

7. Building Alarm Ports This standard feature enables you to connect UPS
ports to your building alarms, such as” On generator” . Please use twisted-
pair wires to connect the alarms and the corresponding UPS ports. You

can choose which building alarm you want to connect to a certain UPS port
through LCD.

If you have any questions on the use of the above communications terminals,
please call SANTAK's local distributors or email to santak_int@eaton.com.

Pull Chain Terminals:

O N

f
O

J 1. Pull Chain+
Pull Chai 2. Pull Chain-

REPO external wiring:

Emergency Shutdown Emergency Shutdown

[oln o o od] [olo o o o

1 2l 3 4 11 2| 31 4
L - T T 1 i
i_ J ]|—_ User Switch | J |_ User Switch
| | L U
—————— Keep 1-2 connected by a short wire.
close 1-2 to enable UPS emergency disconnect 3-4 to enable UPS emergency
shutdown. Keep 3-4 idle. shutdown.

42



Pullchain external wiring:

NOTE:

Parallel system combined input and output cable length should be in
accordance with the following rule. It should be designed to ensure that
wiring impedance from point of supply to UPS input and from UPS output to
load connection for each UPS module in a multi-module system is equal, or
within a tolerance of approximately ==10%. This is to ensure approximately
equal current sharing when in static bypass mode and restrain input/output
high frequency loop current of parallel system. Suggest that parallel system
combined input and output cable length no less than 10m, 5m for input and
5m for output.

Total length of 1A=2A=3A=4A

1B=2B=3B=4B

1C=2C=3C=4C
If installing only two UPS modules (redundant), this requirement is no longer
required as each UPS is capable of supporting the full bypass requirement.
However, this would preclude future expansion.

Ensure that each UPS static bypass is fed from a single common source, as
is an external bypass switch if installed. If each UPS is fed with a separate
rectifier source, please consult Santak for advice on compatibility.

UPS paralleling wiring diagram — without parallel tie cabinet

TERMINATING TERMINATING
JUMPER RJ-45 CABLE RJ45 CABLE RJ-45 CABLE JUMPER
[ 1 [ 1 [ 1
[N ] Tout ] [N T Tour ] [N T Tour ] [N ] Tout ]
cna T——Tcene N3 L——T cne cN3 ——Tcne cna T——Tcene
CANBUS CAN BUS CAN BUS CAN BUS
UPS 1 UPS 2 UPS 3 UPS 4
PULLCHAIN PULLCHAIN PULLCHAIN PULLCHAIN
CNa CcNa CN4 CNa
1 2 T2 T2 T 2
[ 1. Ll 1l L]

T I T

43




UPS paralleling wiring diagram — with parallel tie cabinet

TERMINATING TERMINATING
JUMPER RJ-45 CABLE RJ-45 CABLE RJ-45 CABLE JUMPER
[ 1 [ 1 [ 1
[N ] Tout ] [N [our ] [N ] Toutr ] [ w T Tout ]
3 CN6 CN3 3 3 CN6
CAN BUS CAN BUS CAN BUS CAN BUS
UPS 1 UPS 2 UPS 3 UPS 4
BUILDING  PULLCHAIN BU\LD\NG PULLCHAIN BUILD\NG PULLCHA\N BU\LD\NG PULLCHA\N
ALARM CN9 CN4 ARM CN4 ALARM N4
12 | [1 2] [ 2] 2 ] 2 ]
TWISTED
PA\RS
CUSTOMER
TERMINAL
BLOCK
CONNECTIONS
a4 25 10 26 15] 14 27 21[ 20 22 28
6 7 12 19 24
NO‘ NC NO| [NC| NO| |NC NO| |NC NO| |NC NC| | No| |Nc| (M| No| | Ne
coMm, com com oM B|com
5 m 4 23
TIE CABINET

44




Chapter 6 Optional Accessories

6.1 Dustproof Filter

Dustproof filter is an standard accessory specially designed for the 3C3 PRO
series to provide further protection for the front side of the UPS in environments
where there is heavy dust (dust diameter no less than 1.0mm, especially metallic
and metalloid dust). It is easy to install, replace and clean.

3C3 PRO 20-40KS Dustproof Filter

. Dustproof
Filter

3C3 PRO 60-20KS Dustproof Filter

> Dustproof Filter




6.2 Temperature Sensor

For battery with short lifetime and being sensitive to temperature, the temperature
sensor can be used to detect the temperature change, enable the temperature
compensation function of charge voltage, the battery charge voltage will be
adjusted automatically to prolong the lifetime of the battery.

6.3 Single Power Input

The 3C3 PRO Series 20-80kVA models can be used to change the standard dual
power input to a single power input via the supplied power jumper according to
customer requirements.

46



Chapter 7 Transportation, Maintenance and
Troubleshooting

Transporting the UPS

Prepare for transporting the UPS according to the following steps:

Note: Special equipment, such as a forklift, is needed for loading and unloading
due to the heavy weight of the UPS.

1. Turn off all equipment that is being powered by the UPS, and disconnect all
connectors to the power terminal of the UPS.

2. Disconnect the UPS from utility power and turn off the battery.

Servicing and Maintenance

The 3C3 PRO series require only minimal maintenance.
1. If the battery is disconnected, loads will not be protected from power failure.

2. Under normal circumstances, early replacement should be made if the
battery is found not in good condition. The battery should only be replaced
by qualified personnel. Users should not replace the battery themselves. The
following precautions should be observed:

A. Turn off and disconnect the UPS from the AC mains prior to battery
replacement.

B. Remove watches, rings, or other metal objects.

C. Use screwdrivers with insulated handles, and do not lay tools or metal
objects on the battery. Otherwise the battery can present a risk of electrical
shock or explosion from high short-circuits current.

D. Short circuit or reverse connection between the positive and negative
terminals of the battery is strictly forbidden.

3. It is not recommended to replace batteries individually. All batteries should
be replaced at the same time only by authorized personnel following the
instructions from the battery supplier.

4. Keep the air inlets and outlets clear for proper ventilation and clean side
frames and fan vents from dust every 6 months (disconnect the UPS from
utility power and turn off the battery prior to the cleaning).

47



Troubleshooting

Go through the following checklist if the UPS is operating abnormally:
1. 1Check if the input wiring of the UPS is connected correctly.

2. Check if any over-current circuit breaker has tripped.

3. Check if input voltage is within the specified limits.

If the problem remains unsolved after you go through the checklist above, please
refer to "Table of Malfunctions" and "Reference Table of LED Indicators" in
Appendix Il for further instructions.

Table of Malfunctions .
Symptom - - Solution
LCD Display or Possible cause

Remove some load. Loading
level shall be less than the
nominal power capacity.

Overloaded in bypass or
inverter mode
The fault LED is lit,

periodic beeps Mains out of tolerance

Check that the input wiring
and input voltage are normal

Check the battery breaker
and the battery wiring

Battery disconnected

The fault LED is lit,

) UPS fault

continuous beeps
. . Contact SANTAK customer

Battery discharging Battery exhausted )
. service center
time less than 1/3 of
initial discharging time Charger fault
LCD panel has no Long press ESC 3S,LCD
display replacement.

If the problem persists, please contact SANTAK local distributors or email to
santak int@eaton.com, and provide the following information:

*  MODEL and SERIAL NO of the UPS;

48



i) SANTAK

TYPE: 3C3 PRO-20KS  Uninterruptible Power Supply

INPUT. AC380/400/415V 3W+N+PE, 50/60Hz, 32/31/29A, Icc 10kA
BYPASS: AC380/400/415V, 3W+N+PE, 50/60Hz, 30/29/28A, lcc:10ka
QUTPUT: AC380/400/415V, 3W+N+PE, 50/60Hz, 30/29/28A, 20kVA/18kW
BATTERY: DC384V 41A lcc 10kA (Please refer to user manual for details )

9106-52241
[T o
€
9106-52241-XX - 2
—
P:
3CN02CC50412024
ST MMM s s e
Address: No. 8 Baoshi Road, Baoan District, Shenzhen

ALXKLAAXK
s M0

The date when the problem arose.
A complete description of the problem (including indications from the LCD panel,
LED indicators, horns, and power condition and load capacity).

49



%86 8poN 003
Aouanyy3
% V6 OPOJ\ UOISI&AU0D-8|qnod
) ‘0.0 Jo Q:ﬁ;wafg jusiquie ue je peoj| Axv_‘ﬁ_‘A J0J sw QG| pue QW] PEOUAAD
PEO| %0G1-9Z | 10} UIW | ‘PEO| %GZL-LLL 10} UlW Q| ‘PEO| %0 LL-Z0) 104 UIW 09
ZHY FzH(Z2-2¥) aouela|o] Aouanbaig nding
60 Jojoe Jamod
(SL¥/0%2 08€/022 leuondQ) ‘@M PUNOID + UM [BANSN + 8SEUJ 981U ‘OBA 00%/0€ abejjon perey
(%0Z F :9buey [euondo wnwixe
‘%01 F :oBuey abejoA psjey Hnejeq) 9BASEY/ESZ O) 6GE/L0T abuey abejjop ssedAg
(SL¥/0¥Z 08€/022 leuondQ) 9BAQ0Y/0€T :Buney
(%02Z+ ‘%0G-) 9eA8.¥/9/Z 0} L0OZ/9LL :PeOT %05
(%0Z+ ‘%SG 1-) 9BAB.Y/9.T O} 0EE/06) :PEOT %00} abuey abejjoN sulep OV ndu

(S1L¥/0%Z ‘08€/02Z leuondQ) 9eAQ0Y/0€T :Buney

66'0< J0joe Jamod
ZHZL -2V Aouanbai4
BN\ PUNOID) + BIINN [BJINSN + 8Seyd 98y adA] jndu)
MMZLINAM08 MMPS/VAN09 MME/NANOY MMTLZINAAOE MM8LIVAMO0C Aydede) pajey
SM08 O¥d €0€  SM09 Odd €0¢ SMO¥ Odd €0¢ SM0E O¥d €0€  SMOZ Odd €0¢ S|9POW

suonesyads SH08/SM09/SH0F/SHOE/SHOT OYd €€

suonesyigadg | xipuaddy

50



*S9dURCINISIP JUSASId 0} PaPaaU 3G ABW SIINSEIW |BUOIHPPE JO SUOIIDLIISDI UOIIR|[RISU| JUSWUOIIAUS
K1epuodas ay3 uj uopyeddde [erIsNpuUl pUR [BIDISWWOD 10) papUdUL s11onpodd iyl :ONINYVM

pJ/E|
2'07029/031 spJepue)s Ajsjes |euoneussiul
2'092//99  eulyD Jo SpiepuelS Ajojes [euoneN
S60LL/AA uonesyiued oL spiepueis
£Y6va0 BUIYD JO SpJepuelS Ajajes [euolieN Kiages
0021 X02.X009 00Z}x0Z.X009 008XG08X0GE  008XS08X0SE  008XxS08X0SE (ww) (Hx @ x M) suoisuswiq
Byocz Byeze BMLOL BMGL BMG /8 (A1epeq Inoypm) Jybropn ssoi9 5
ybram
BMr8L BMLLL BME6 BM29 BMS 19 (A1apeq Inoynm) Jybrapn 19N
abeyjop buibiey) parey
6 ¢ !
(1190 261) AY8E :Bumss ynejep (sl18D 91.2) AZEY O3 (SII9D 891) AIEE /abe3jop A1aeg [PUILION
abeyoed |eulblo yIpm BYio NS
11un Jaya1) 1eak
HY %0. > Aipiwny sbeio)s 2U0 2103s sped
0, 0% > ainjesadwa) abelo)g aJeds pue sdn
J10j uonIpuod
[EIVY Asng abe10)5
Joopu| aoe|d
MMZLINANOS MMPS/VAN09 MMI9ENANOY MMLZINANOE MM8L/VANOZ fypede) pajey
SM08 O¥d €0€  SM09 O¥d €0€  SMOP O¥d €0€  SMOE O¥d €0€  SMOZ O¥d €£0€ SI9PO
. ‘9seauoul woQ |} A1ons oy 9%, \,E pajelap aq pjnoys M&D QY] ‘w000z spmny Bunessdo
:apnyyje Bunesado wnwixew ay] {|oAa] Bas aAoge W0l ulyum Bunelap oN
Buisuspuosuou ‘%G6-G Apiwny ESLUC AL

bunesado

suolpuod poob ul ebexoed aAnosjoid 8y Yum O,GG+ ~ GL—

ainjesadwsa| abeioig

2.0%-0

alnjesadwsa] juaiquiy

51



‘asealoul woQ | A1ons 1o} % Aq pajelsp aq pinoys SdN 8yl ‘Woo0‘z

:apnyyje Bunesado wnwixew ay] {[9Aa] Bas aA0ge WOO0* L ulyum Bunelap oN Sy B e
Buisuspuoouou ‘9%,G6-G Aiplwny METHRATE]
bunesado
suol}Ipuod poob ul abexoed aAijosjold By} UM O,GG+ ~ GL— ainjesadwa| abeiojs
2.07-0 alnjesadwsa] juaiquiy
%86 8pojN 003
SITETRIITE|
%6 SPOA UOISISAU0D-3|gnoq
_ * 0,07 J0 w._:ﬂm‘_mafwﬂ jusique ue je peo| o\imFA 10} sw Q0G| pue WI| PEOUSAD
PEO| %0G1-9Z| 10} Ul | ‘PEO| %GZL-|LL 10} UlW QL ‘PEO| %0LL-Z0} 104 UIW 09
ZHY FzH(2.-2¥) aouesa|o] Aouanbai4 nding
60 lojoe Jemod
(S1L¥/0%Z ‘08€/02z :leuondQ) ‘@JI\ PUNOID + BIIA [eNBN + 8SBUd 881U ] ‘0BA 007/0€2 abejjon pejey
(%0z F :9buey [euondO wnwixep
‘%01 F :obuey abeyon pejey Jneyeq) OBABEY/ESZ O} 65€/L02 abuey sbeyjo) ssedAg
(S1L¥/0¥Z ‘08€/02Z :1euondQ) 9eA00Y/0ET Buney
(%02+ ‘%0S-) 9eA8.1/9.Z O} LOZ/9LL :PBOT %0S
(%02+ '%G1-) 9BA8L¥/9.Z O} 0EE/061 PEOT %00 abuey abejjoN sutep OV ndu

(SL¥/0%Z ‘08€/02Z :leuondQ) 9eA00T/0€T Buney

66'0< 10joe Jamod
ZHZL - ¢y Aousnbali4
BlIA\ PUNOID) + BIIAA [BINSN + 9SeUd 991y adA] ndu)
MM08L/YAM00C NMMIYYLINAMO9 MM80L/VAMOZL MMO06/YAMO00 L fypede) pajey
SM00Z Odd €0¢ SHM091 Odd €0¢ SM0ZL Odd €0¢ SM00L Odd €0¢ S|SPON

suonedydads SH08/SM09/SHOP/SHOE/SHOZ O¥d £0€

52



‘wea)
yoddns [edjuyda) 4o s3jes yejues ayl Yum uonewlyuod 136 nok ains jepy uoneinbiyuod uolds A191eq 3neyap-uop

*saduRqINISIP JUaA1d 0} papaau g Aew s2INSeaW [RUOIIPPE J0 SUOIIDIIISAI UOIIR|[RISU] “JUSWUOIIAUD
K1epuodas ayy ui uonedijdde [eu3snpul pue [eISWWOD 104 PaPUdIUI 1 3dNpoid Iy :ONINYVYM

O3
2°07029/031 splepuels >uw“_mw |euoneulaju|
2'09¢./99 eulyD Jo spiepuels Ajajes |euoljeN
G60LL/AA uonesliad 9711 Spiepuels
£Y6raD BulyD Jo spiepuels Ajajes [euoneN f134es
9/81 X0€8 X009 9/81 X008 X009 (ww) (HXx @ X M) suoisuswiq
O¥erae] B)Ges BM6.E BMLGE (A1epeg In0yNM) JuBIaAA SSO0ID 3
1ybs
BMLGY BMLGY ByLLE BMEST (Aiepeq noynm) JubIopm JoN
abeyjop buibiey) paiey
s||e :Bumes jnejep ‘(s|e 0} (s||e :
(sl z61) Ar8E :Bumas ynejop ‘(slloD 912) AZEY 0} (SII9D 891) A9EE J3bexjop Aianieg [eulLioN
abeoed |eulblio Yupn 1BYI0 (NS
Jun Jaya1) Jeak
HY %0. > Aipiwny sbelo)s 3U0 21035 sued
0, 0% > ainjeladwa] abelio)g aieds pue sdn
10} uol}puod
=Y Asng a6eI0)S
Joopu| aoe|d
MM08L/VAM00Z MYV LIVAMO9 MM80L/VAMOZL MM06/YAMO00L fdede) pajey

SY00¢ Odd £€0¢€ SYM091 Odd €0¢€ SY0¢l Odd €0¢€ SM00l Odd €0¢ S|9PON

53



Appendix Il Reference Table of LED Indicators

NO Status Bypass | Mains In\I;EEcer Battery | Fault Buzzer
LED LED LED LED LED

1 | Mains Mode

Normal [ ] [ J

Warning [ [ (] *
2 | Bypass Mode

Normal [ J

Warning ([ (] *
3 | Battery Mode

Normal [ J ([

Warning [ J ([ [ J *
4 | Battery ECT

Normal [ J [ J [

Warning [ ] [ ] ([ J L4 *
5 | ACECT

Normal [ J [ J [ J

Warning o o o ([ J *
6 | ECO Mode

Normal [ ] [ ]

Warning [ [ (] *
7 | LOAD OFF

Normal

Warning (] *

If there is no LED status in the table above be found in your equipment, please
contact authorized distributors or email to santak_int@eaton.com.

« ndicator light is on
*  he working cycle of buzzer is 3s: ringing 0.5s and being silent for 2.5s.

For more specific failure information, please contact SANTAK service
representative.

54



Appendix Il Warranty

The company provides: two-year free warranty service from the date of purchase.
For repair or replacement of the warranted items, please provide

Valid certification by an authorized distributor;

*  The serial number of your product.

In case of product failures, please call local distributors or email to
santak_int@eaton.com. SANTAK's customers are entitled to the following
services:

«  Two-year warranty;

e 24-hour toll-free hot line service;
*  Nationwide warranty;

*  Online technical support service;

*  Free on-site repair within the warranty period of UPS.

The warranty does not cover:

. Human initiated failures;

. Failures that occur after the warranty expires;

* Items of which the serial numbers are changed or lost;

» Damage or loss caused by force majeure;

. Items that underwent unauthorized disassembly or modification;
*  Failures arising from no-compliance with operation instruction;

»  Damages arising from battery over discharge or human irritated damages.

55



614-21258-00






www.santak.com.cn

m%%?(lﬁﬂ” )ﬁﬁﬁﬁﬁj www.santak.com.cn
i RYTELRT2RERIKSS BR4R: 518101
ER# % : 400-830-3938/800-830-3938  FHR{LZ E:(0755)27572730
% B &0 E-mail #hik: upsservice@eaton.com

7k “SANTAK”. “W#”. “@” FMitrta B EF ORYD HARASFRA



	第1 章  简介
	1.1 产品简介
	1.2 常用符号说明

	第2 章  外观介绍
	2.1 拆包装检查
	2.2 外观图
	2.3  LCD面板指示说明

	第3 章  安装说明
	3.1 安装需知
	3.2 安装空间
	3.3 用户功率端子位置安装图
	3.4 3C3 PRO 系列UPS配线表和保护装置
	3.5 并机安装
	3.6 电池箱连接UPS的步骤

	第4 章  操作
	4.1 单机操作
	4.2 并机操作

	第5 章  通讯界面
	第6 章  选配件介绍
	6.1 防尘过滤网
	6.2 温度传感器
	6.3 双输入电源

	第7 章  运输、维护与故障排除
	附录一 技术参数
	附录二 灯号参照表
	附录三 维修保证
	Chapter 1  Introduction
	1.1 Introduction
	1.2 Frequently used symbols

	Chapter 2  Appearance Description
	2.1 Unpacking and Inspection
	2.2 UPS Cabinet Dimensions
	2.3  LCD Panel Instructions

	Chapter 3  Installation Instructions
	3.1 Installation Notice
	3.2 Required Clearance for Installation
	3.3 Terminals
	3.4 Wiring requirements and protective devices for 3C3 PRO series
	3.5 Parallel Installation
	3.6 Steps of connecting battery cabinets to UPS

	Chapter 4  Operation
	4.1 Operations of Single UPS
	4.2 Operations of UPS in Parallel Connection

	Chapter 5  Communications Interface
	Chapter 6  Optional Accessories
	6.1 Dustproof Filter
	6.2 Temperature Sensor
	6.3 Dual Power Input

	Chapter 7  Transportation, Maintenance and Troubleshooting
	Appendix I   Specifications
	Appendix II   Reference Table of LED Indicators
	Appendix III   Warranty

	规格书封面
	
	614-00388-01_P1-2
	IMPORTANT NOTICE
	Safety Instructions
	Contents
	Chapter 1 Introduction
	1.1 Introduction
	1.2 Symbols

	Chapter 2 Appearance Description
	2.1 Unpacking and Inspection
	2.2 UPS Cabinet Dimensions
	2.3 LCD Panel Instructions

	Chapter 3 Installation Instructions
	3.1 Installation Notice
	3.2 Required Clearance for Installation
	3.3 Terminals
	3.4 Wiring requirements and protective devices for 3C3 PRO series
	3.5 Parallel Installation
	3.6 Steps of connecting battery cabinets to UPS

	Chapter 4 Operation
	4.1 Operations of Single UPS
	4.2 Operations of UPS in Parallel Connection

	Chapter 5 Communications Interface
	Chapter 6 Optional Accessories
	Chapter 7 Transportation, Maintenance andTroubleshooting
	Appendix I Specifications
	Appendix II Reference Table of LED Indicators
	Appendix III Warranty





